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Question Number : 1 Question Id : 59445943828 Question Type : MCQ Option Shufflin

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the odd letter number group from the given alternatives.

25A, 26C, 33E, 39G, 55I, 80K
Options :
1. % 26C
2. % 39G
3. % 551
4, ¥ 33E

Question Number : 1 Question Id : 59445943828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

g : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f&T 7 fasedl ® I faun 3i&R T g &1 9T B |

25A, 26C, 33E, 39G, 551, 80K
Options :
1. ®= 26C
2. % 39G
3. % 551
4.+ 33E

Question Number : 2 Question Id : 59445943829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following Alpha Numeric series:

A8, 718, C38, X78, K158, ?
Options :
1. % P352
2. ¥ P318
3. % P322
4. % P326

Question Number : 2 Question Id : 59445943829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRad S1eRIBI (3T gAR®) ST DI TR B

A8, Z18, C38, X78, K158, ?
Options :
1. # P352
2. ¥ P318
3. % P322




4. * P326

Question Number : 3 Question Id : 59445943830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the odd letter group from the given alternatives.
Options :

1. * BF

2. % (I

3. % AC

4. ¥ EN

Question Number : 3 Question Id : 59445943830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fdewedl O 9 favd 316R THg &1 994 B |
Options :

1. ® BF

2. % (I

3. % AC

4. ¥ EN

Question Number : 4 Question Id : 59445943831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the odd letter group from the given alternatives.
Options :

1. ® CAF

2. ¥ DBF

3. % GEJ

4. % USX



Question Number : 4 Question Id : 59445943831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fa el O 9 favy 31&R THE &1 T4 H1 |
Options :

1. # CAF

2. ¥ DBF

3. % GEJ

4. % USX

Question Number : 5 Question Id : 59445943832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option on the same basis as the second term is related to the first term.

Car : Wheels :: 7 : ?
Options :

1. # Truck : Load

2. % Boat : Sail

3. % Sky : Blue

4. #® Restaurant : Eat

Question Number : 5 Question Id : 59445943832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I faed o1 70 3 ol TR I ORI U Ugd US ¥ Yafed g |
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Options :

1. WW:@H
2.9 {19 Uld

3. ® 3IHIY : el




4. % AR - @l

Question Number : 6 Question Id : 59445943833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Orange : 15 :: Guava : ?
Options :

1. ¥ 13

2. % 14

3. % 16

4. % 12

Question Number : 6 Question Id : 59445943833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAH e BT 997 B 1 ik UG ¥ 391 UHR ¥ Yafdd g fo UR ¥ 3R UG Ugd Ug ¥ Haifed g

IR : 15 :: TG : 2
Options :

1.¥ 13

2. % 14

3. % 16

4. % 12

Question Number : 7 Question Id : 59445943834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain code language 'Ram is good' is written as 'la pa ra', 'Sweet tastes good' is written as 'na sa la', then find the code for 'good'?
Options :

I. # pa



2.9 la
3. % sa

4. % na

Question Number : 7 Question Id : 59445943834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe e fAfga BHIS HTHT H 'Ram is good' Bl 'la para' & =0 H forar T %, 'Sweet tastes good' P 'na sa la' b ¥ H ferar a1 %, dr 'good’ &
1T BTs I P2

Options :

1. * pa

2.¥ la

3. % sa

4. *# na

Question Number : 8 Question Id : 59445943835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code 'CHAIR' is written as 'QHZGB!', then how will 'BENCH' be written in that code?
Options :

1. ¥ GBMDA

2. % FBMCD

3. # GCBDM

4. % FBECO

Question Number : 8 Question Id : 59445943835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Afd HIe H 'CHAIR' BT 'QHZGB' & =0 # forar a1 g, d I s & 'BENCH' &1 3 ferar s
Options :

1. ¥ GBMDA

2. % FBMCD



3. * GCBDM
4. # FBECO

Question Number : 9 Question Id : 59445943836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7TIATR ), K, L,M,N, 0 3R PIHF FARA TS &I LM P AU R T IMMK P IU MR TIJ, L P MW AR B J R M P s H U ST |
NSRKFSTHATHEIMIROP SagI s 8l

3l da A P82

Options :

%

2. % N

3. % K

4.9 M

Question Number : 9 Question Id : 59445943836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven children J, K, L, M, N, O and P are standing in a line. P is to the right of M and to the left of K. J is on the right of L. J and M have one
child between them. N and K have two children between them. M and O have two children between them.
Who is exactly in the middle?

Options :
1. * L
2. % N
3. K
4. ¥ M

Question Number : 10 Question Id : 59445943837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q,R, S, T, Uand V are sitting around a circle and are facing the centre. V is 2nd to the left of R, who is to the immediate left of U. P is 3rd to
the left of T. Q is between S and T. Which of the following is the position of U?

Options :



1. ¥ 4th to the right of S

2. % To the immediate left of R
3. # Exactly between P and T
4. % To the immediate right of P

Question Number : 10 Question Id : 59445943837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q,R,S,T,UMR VUG TIH ARl RIS § 3N F% Pl SR ITHTTE I V,RF I I R VAW, MU S SIH AL HRI P, TH a1Y
ARVYHAREIQ, SN TF AR Fufi@ad e v fRufage

Options :

1. S P ST 3R I T
2. % R% 3P a1

3. % p3R TP 3lb dg |
4. % p & BlH qId

Question Number : 11 Question Id : 59445943838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question four statements are given, followed by three conclusions, I, II and III. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statement.

Statements:

I. Some bird are rat.

II. No rat is dog.

1. Some dog are tiger.
I'V. No tiger is zebra.

Conclusions:

(i) Some dog are not zebra.

(i1) All bird can never be tiger.

(i11) All bird are zebra is a possibility.
Options :



1. # Only (i) and (ii) follows
2. % Only (ii) and (iii) follows
3. % Only (iii) follow

4. % Only (i) and (iii) follows

Question Number : 11 Question Id : 59445943838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had (i) 3R (ii) STV B &

2. % Had (if) 3R (iii) IRV Hd ©
3. % Bad (iii) TRV BT §

4.« Had (i) 3R (iii) STTRU B &

Question Number : 12 Question Id : 59445943839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question four statements are given, followed by four conclusions, I, II, IIT and I'V. You have to consider the statement to be true even if it

seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statement.



Statements: I. Some flowers are stems.
II. All stems are leaves.

III. Some leaves are roots.

IV. All roots are branches.

Conclusion: (I) No stems are leaves.

(IT) All stems are flowers.

(IIT) At least some leaves are flowers.

(IV) Some roots being stems is a possibility.

Options :

1. % (III) and (IV) follows
2. % Only (IV) follow

3. % (I) and (IT) follows

4. % None follow

Question Number : 12 Question Id : 59445943839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ (I11) 3R (1V) 3IIER0 Hd §

2. % HaAd (IV) SR HRl §

3. % (1) 3R (I) SRV Hd &




4. % IS STIRUT TEI Bl

Question Number : 13 Question Id : 59445943840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series.

21, 65,109, 1413, 1817, ?
Options :
1. ® 2019
2. % 2120
3.9 2221
4. % 2526

Question Number : 13 Question Id : 59445943840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefaa e gadr o R |

21, 65, 109, 1413, 1817,?

Options :

1. ® 2019

2. % 2120

3. % 2221
4. % 2526

Question Number : 14 Question Id : 59445943841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is odd number in the following number series?

11, 15, 19, 16, 20, 23, 21, 25, 29, 26, 30, 34
Options :



1. ® 16
2. %25
3.% 20
4.4 23

Question Number : 14 Question Id : 59445943841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad T skaem & HH- faum e 2
11, 15, 19, 16, 20, 23, 21, 25, 29, 26, 30, 34
Options :

1. % 16

2. % 25

3. % 20

4.9 23

Question Number : 15 Question Id : 59445943842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the relationship among rainbow, green and orange?
Options :

1. ¥



. O

Question Number : 15 Question Id : 59445943842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR # 9 PIF A1 3R U, BR 3R RN o s & Heit] bl <RI &2

Options :

1. ¢



Question Number : 16 Question Id : 59445943843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the following figure?

Options :
1. 18



2. % 20
3. % 22
4. % 24

Question Number : 16 Question Id : 59445943843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad srefa & fba Bys &2

Options :
1. 18
2. %20
3.% 22
4, % 24

Question Number : 17 Question Id : 59445943844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the figure series.

A Al IV V
[ ] 1 ? X
T Y I L

Options :




v
1.Hv
vV A
2.WA
A A
3.HA
A
4.«-/A

Question Number : 17 Question Id : 59445943844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR YRIAT DI R B |



A Al [V
m X
A Al |V
e
1. % v
Y dX
2. % A
A A
3. % A
A
4. A




Question Number : 18 Question Id : 59445943845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the figure series.

. 2
O A AL]O ? O A
X X

Options :

X




iR ®
r X

Question Number : 18 Question Id : 59445943845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3P 4Rl bl T DR
b 4

B A0 ? @ LS
X X

Options :

X

1.¢

A O




AN ®

X

Question Number : 19 Question Id : 59445943846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the answer figure which is embedded in the question figure.

Options :

1. ¢




4. %

Question Number : 19 Question Id : 59445943846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TR SMPHI BT I B S U AT H Ffafed g

Options :



Question Number : 20 Question Id : 59445943847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the answer figure is exactly the mirror image of the given figure, when the mirror is placed on the line AB?



<L BASARARARAARRANNYY M)

Options :
#®




Question Number : 20 Question Id : 59445943847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR M A Y B W, N 1L 3pla Bl et <dor ofd B, o @M AB W U0 Y T SIIeT 272

Sl

Options :
1. #
2. %
3.¢
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445943848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous Virupaksha Temple is located in which of the following states?
Options :

1. % Kerala

2. ¥ Karnataka

3. % Tamil Nadu

4. % QOdisha

Question Number : 21 Question Id : 59445943848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRT faReune wieR MafaRed # @ fog v o Ry 32
Options :

1. % D

2. ¥ FHlcH

3. % e A1g

4. % 3NfSEm

Question Number : 22 Question Id : 59445943849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sindhu Darshan Festival is a festival held in Leh, Ladakh. The festival is held every year in
Options :

1. % September

2. % March

3. ¥ December

4. ¥ June



Question Number : 22 Question Id : 59445943849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o= Ia g, AErg H ST U AR B U8 I9d gX ay H Smnford far sar g
Options :

1. % fRdeR

2. % U9

3. % fadR

4. % [q

Question Number : 23 Question Id : 59445943850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, a multipurpose seaweed park will be established in to promote seaweed farming and
cultivation.

Options :

1. % Madhya Pradesh
2. ® Uttar Pradesh

3. % Kerala

4. % Tamil Nadu

Question Number : 23 Question Id : 59445943850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

égzé%wﬁﬁﬂéaﬁwé&wﬂgﬂﬁw@?ﬁSﬁ“\f\gms’ﬁwméﬁ%ﬁﬂ T Ig3e2N T QAT UTdh Pt RITYAT
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Options :

1. % e U

2. % JWUSY

3. % P

4. ¢ A TS




Question Number : 24 Question Id : 59445943851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
refers to direct sales and purchase of securities and bills in the open market by Reserve bank of India.

Options :

1. % Consumer Credit Regulations
2. ¥ Open Market Operations

3. # Margin Standing Facility

4. % Moral Suasion

Question Number : 24 Question Id : 59445943851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR Ro1d dF gRTga SR | ufayfaal si 3t ot uer fawt sik Wiiq & Yefifd srdr g
Options :
1. % HYIR shigc WA=
2. ¢ 3 AT TR
3. % Ao W Hidiferet
4. % ORd guIH

Question Number : 25 Question Id : 59445943852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the study of kidneys.

Options :

1. # Odontology
2. # Neurology
3. # Neonatology
4. ¥ Nephrology

Question Number : 25 Question Id : 59445943852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TG BT HTT 3|
Options :
1. % <Al (3MS<ralol)
2. % HYATA

3. % ATl
4. TRITCATRIRA

Question Number : 26 Question Id : 59445943853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is a vector quantity?
Options :

1. # Density

2. % Volume

3. ¥ Force

4. % Distance

Question Number : 26 Question Id : 59445943853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea & 3§ oF O 9af @) IR1]?
Options :

1. % Ydd

2. % 3dA

3.9

4. % G

Question Number : 27 Question Id : 59445943854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Duncan Passage joins the Bay of Bengal with

Options :

1. ¥ Andaman Sea
2. % Black Sea

3. % Caspian Sea
4. % Red Sea

Question Number : 27 Question Id : 59445943854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S ST & TIY T Pt WISt Bl Sl g
Options :

1. ¢ 3fSHHM AR

2. % DIATINR

3. % BT AR

4, % I IR

Question Number : 28 Question Id : 59445943855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amarkantak is an important peak located in which of the following mountain ranges?
Options :

1. # Vindhyas

2. % Western Ghats

3. # Eastern Ghats

4. ¥ Maikal

Question Number : 28 Question Id : 59445943855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Rded Fafaiad o 9 forg ydaarar & fRud Agaqul udddie! g2

Options :



Question Number : 29 Question Id : 59445943856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The English Education Act in was a legislative Act of the Council of India that made English the official and literary language of
India.

Options :
1. * 1830
2.9 1835
3. % 1847
4. % 1852

Question Number : 29 Question Id : 59445943856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o sl Rram s yRdH fafis aRwg &1 faumaun siifad o1 o Sl &1 yRd & SMiieTRS SR Afefde yre
5 fea
Options :
1. * 1830
2. ¥ 1835
3. % 1847
4. % 1852

Question Number : 30 Question Id : 59445943857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Servants of India Society was founded in by Gopal Krishna Gokhale.
Options :



1. #® 1915
2. % 1912
3. % 1905
4. % 1907

Question Number : 30 Question Id : 59445943857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TdCy 1 SFea1 AN 1 R T MU $WT IR A B ot
Options :

1. % 1915

2. % 1912

3. ¥ 1905

4. % 1907

Question Number : 31 Question Id : 59445943858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the political guru of Mahatma Gandhi?
Options :

1. % Bal Gangadhar Tilak

2. # Lala Lajpat Rai

3. % Gopal Krishna Gokhale

4. % Jawaharlal Nehru

Question Number : 31 Question Id : 59445943858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 o TgTe el & ot T3 42
Options :

1. % ST TR faciept



2. % AT ArSTad X
3. ¢ U $0T TRal

4. % AR g

Question Number : 32 Question Id : 59445943859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the British Academy Television Awards (BAFTA TV Awards) 2021 for 'Supporting Actress'?
Options :

1. # Leila Farzad, I Hate Suzie

2. # Weruche Opia, I May Destroy You

3. ¥ Rakie Ayola, Anthony

4. % Helena Bonham Carter, The Crown

Question Number : 32 Question Id : 59445943859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad 4 9 forem ere it & fo fafewr siaprett calfasH R (a1t idt GRIBR) 2021 SHar
Options :

1. % el BRI, 3T g ol

2. % 9% 3N, o A e g,

3. ¢ (b1 Te, T

4. % BT 98T BICR, & hI3

Question Number : 33 Question Id : 59445943860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gulliver’s Travels is written by

Options :
1. ¥ Jonathan Swift
2. % Lewis Carroll



3. # Mark Twain
4. % Herman Melville

Question Number : 33 Question Id : 59445943860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ty cacd gRI feRaT T 8|
Options :

1. ¢ ST U

2. % T PRA

3. % O ¢

4. % B "G

Question Number : 34 Question Id : 59445943861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state government decided to include disaster and pandemic management in high school and college curriculums in May 20217?
Options :

1. % Assam

2. % West Bengal

3. ¥ QOdisha

4. % Manipur

Question Number : 34 Question Id : 59445943861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 5T WBHR 7 18 2021 H AT Rererd iR Heifdemed & ursashyd H 3iuer 3R AEMRY UseH ol TMfid o o1 fAofg femm
Options :

1. % 3 gH

2. % Ufgy §red

3. 3fifsTm




4. % AR

Question Number : 35 Question Id : 59445943862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The government on the occasion of International Menstrual Hygiene Day launched a scheme to provide free sanitary napkins
to needy girls and women across the state in May 2021.

Options :

1. % Madhya Pradesh
2. % Punjab

3. # Rajasthan

4. % Qdisha

Question Number : 35 Question Id : 59445943862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHR A 3 R o Wl fiad & AR IR Hs 2021 H oT 1R T SRevaiie dsfeadl SR Afganat & gud Jes!
ufdr Ue e & o = B

Options :

1. % YR
2. ¢ USlld

3. % XOIRYTH
4. % 3nfgEm

Question Number : 36 Question Id : 59445943863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Central Board of Secondary Education (CBSE) in collaboration with introduced coding and data science as subjects for
students as new skilling subjects in the 2021-2022 academic session.

Options :
1. # Reliance
2. # Google



3. ¥ Microsoft
4. % Apple

Question Number : 36 Question Id : 59445943863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F<i1g reafie e ars A & TEANT T 2021-2022 &ITOTH T 7 B! & [T 7T S At & U & SIS 3R Se7 fagH
&I fawdl & =g H U foa|

Options :

1. ® g

2. ® T

3. ¥ TIRDINETT
4. % TW]

Question Number : 37 Question Id : 59445943864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pratapsingh Rane was the first Chief Minister of which of the following states?
Options :

1. # Gujarat

2. # Rajasthan

3. % Haryana

4. ¥ Goa

Question Number : 37 Question Id : 59445943864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaTgiig o FRaferiRad & 9 ford o9 &1 ugdr TeaEst U1
Options :

1. % TSRId

2. % ST/



3. % gigmon
4. Tl

Question Number : 38 Question Id : 59445943865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is incorrect to qualify as a member of Vidhan Sabha?
Options :

1. #® A person must be a citizen of India.

2. % A person must have attained 21 years of age.

3. % A person should also state an affidavit that there are no criminal procedures against him.

4. ® A person should be mentally sound & should not be bankrupt.

Question Number : 38 Question Id : 59445943865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o o @ &9 91 Sy YR & 9o & U H Sigdl UTd & & fag 7Terd 82
Options :

1. % U Hfad ! YR BT ANTRS g1 A6 |

2. ¢ U Alad HI 21 T B! 3 U B! ATgy

3. % U Ufdd &I YYYYF TR 1 e {6 ITF RIars i SmoRiferes uferar gt g |
4. % U Hfgd &) AFRIS ¥U I WX gIHT1 A1 1R fearferan 78t g1 =nfeu|

Question Number : 39 Question Id : 59445943866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ryder Cup is associated with which of the following sports?
Options :

1. # Football

2. ¥ Golf

3. ® Tennis



4. # Hockey

Question Number : 39 Question Id : 59445943866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JZER HU FafRad d ¥ frw 9a 3 defid g2
Options :

1. # padid

2. ¥ T

3. % ¢

4. % gl

Question Number : 40 Question Id : 59445943867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the highest wicket taker in the ODI test format?
Options :

1. % Shahid Afridi

2. % Wagqar Younis

3. % Muttiah Muralitharan

4. ¥ Wasim Akram

Question Number : 40 Question Id : 59445943867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad § ¥ @19 oDI ¢ UReT § ¥aifid fdde o ard fohder 82
Options :

1. % MEE B!

2. ®# dHPRYIY

3. ¢ U1 IRARA

4. % o 3HIH
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Question Number : 41 Question Id : 59445943868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A number which can exactly divide 143, 1001 and 1210 is reduced by 3. Find the highest possible solution.
Options :



1. % 2
2.% 4
3.%6
4.9 8

Question Number : 41 Question Id : 59445943868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT SN 143, 1001 3R 1210 BT IUId: FIHTRIT BR THhcll B, 3 W HH IR &1 T3 8 | IATH FHT JHTL J1d DI |
Options :

1. %2

2.% 4

3.%6

4.9 8

Question Number : 42 Question Id : 59445943869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which number's square when multiplied by 9 will be exactly divisible by 45, 50 and 60?
Options :

1.4 10

2. %5

3. % 25

4. % 20

Question Number : 42 Question Id : 59445943869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy TReAT & ¥ 1 9 T T[0T = TR 45, 50 3R 60 J gofa: fauriord g1 smamme
Options :

1.4 10

2. %5



3. %25
4. % 20

Question Number : 43 Question Id : 59445943870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average height of a group of a score of people 1s 170 cms. The average height of half of them was 155 cms. The average height of the half of
the remaining people was 165 cms. Find the average height of the remaining people.

Options :

1. % 205 cms
2. % 210 cms
3. % 215 cms
4. % 220 cms

Question Number : 43 Question Id : 59445943870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁﬁ%ﬂ%ﬁ&ﬁwmlmcmsélﬁﬁawaﬁmmlﬁ cms“’-ﬁl@qeﬂ‘a?ﬁ"ﬁﬁmmlﬁ cms It Y Hfeadl ot
3d $aTs J1d B

Options :

1. ¥ 205 cms

2. % 210 cms

3. % 215 cms

4. % 220 cms

Question Number : 44 Question Id : 59445943871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X bought goods worth Rs 32,000. He got a 15% discount but had to pay a 10% tax on the discount only. Find the price paid by X.
Options :

1. ¥ Rs 27,680

2. % Rs 29,920



3. ¥ Rs 30,400
4. % Rs 31,200

Question Number : 44 Question Id : 59445943871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 9 32,000 TUT &1 A WRIGT Y 15% D1 e el g IU Had G W 10% DR DT YA HIAT GST| X gRT YT fobar 11 gea
RIS

Options :

1. ¥ 27,680 ¥UQ

2. % 29,920%UC¢

3. % 30,400 >4UUQ

4. % 31,200 %UU

Question Number : 45 Question Id : 59445943872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of an article was Rs 11,200. A tax of 18% is applicable on the article. How much should the price be increased to if the selling price
after tax does not change if the tax rate changes to 12%?

Options :

1. # Rs 11,200
2. % Rs 11,400
3. % Rs 11,600
4, ¥ Rs 11,800

Question Number : 45 Question Id : 59445943872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a¥%g BT AN 11,200 T 2| GG TR 18% P I AN 1T ¢ | Al PR & 916 [9oh! Yoo o] Saardl 5, afe B B a2 12% Bl ol g, A
o o forat gf ot ot =nfewe

Options :
1. % 11,200 24U




2. * 11,400 >UU
3. % 11,600 24U
4. % 11,800 %4U

Question Number : 46 Question Id : 59445943873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C invested the same amount in different bonds to get yields of 7.5%, 8% and 9% respectively. If the difference between the yields of A
and B was Rs 1,500, then how much was the yield of C?

Options :

1. % Rs 22,500
2. % Rs 24,000
3. % Rs 25,500
4. % Rs 27,000

Question Number : 46 Question Id : 59445943873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C 7 TUM AR B HHRT: 7.5%, 8% 3R 9% I Ufawd U o & o faftra ssorosi & faw fear afe A iR B & ufowa &
& BT 3R 1,500 TUT AT, Al C BT UTAHe fobad T UT?

Options :

1. % 22,500 ¥UY

2. % 24,000 TYT

3. % 25500 ST

4. % 27,000 TUY

Question Number : 47 Question Id : 59445943874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fruit seller sold fruits in such a way that for the price of 10 fruits he bought, he could sell 8 fruits to break-even. Find his profit percent.
Options :

1. % 20%



2.9 25%
3. % 30%
4. % 33.33%

Question Number : 47 Question Id : 59445943874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁ%ﬁwawéﬁ%ﬁm@ﬂ%m10Wﬁ$q§crw,a€8uﬁﬁwu-&wuméamlquuﬁmﬁw
|

Options :

1. % 20%

2. ¥ 25%

3. % 30%

4. % 33.33%

Question Number : 48 Question Id : 59445943875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y made some donations to a charity in denominations of Rs 100 and Rs 1000. X donated 5 Rs 100 notes and 10 Rs 1000 notes while Y
donated 10 Rs 100 notes and 5 Rs 1000 notes. Find the ratio of the donations of X and Y.

Options :
1. ® 7:5
2. % 5.7
3. % 4.7
4. ¥ 74

Question Number : 48 Question Id : 59445943875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 3R Y 7 100 ¥UT 3R 1000 ¥UT & HeIdT H H& & fbaTl X = 100 YT & 5 Ale 3R 1000 $YT & 10 Ale F by, Safds v 7 100 3T
& 10 7 3R 1000 ¥UY & 5 AIC &F fBU1 X 3R Y & & HT 30Td I1d B |

Options :




1. ® 7:5
2. % 57
3. % 4.7
4. 74

Question Number : 49 Question Id : 59445943876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family consists of parents and their 2 children. The father is the eldest and their ages are in the ratio of 12:10:5:4. If the present age of the
father is 60 years, then find the average of the family.

Options :

1. # 38.25 years
2. % 38.75 years
3. % 39.25 years
4. % 3975 years

Question Number : 49 Question Id : 59445943876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP URAR & AT1-fdT 3R 31 2 9= € | U1 a8 98 § 3R SAdh! 3T &7 SFUTd 12:10:5:4 § | TG T &1 g 3 60 a9 &,
URAR &7 3 d 1 B |

Options :

1. % 3825Y
2. ¢ 38.75 Y
3. % 3925 9Y
4. % 397599

Question Number : 50 Question Id : 59445943877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A principal provides with 54% of simple interest in 6 years. What will be the compound interest per annum for 2 years on the same rate on a
principal of Rs 20,0007



Options :

1. * Rs 3,672
2. % Rs 3,702
3. % Rs 3,732
4. ¥ Rs 3,762

Question Number : 50 Question Id : 59445943877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JAYF 6 8T H JIURUT TS BT 54% UG BT 8 | 20,000 FUT & TAUT TR FH & WR 2 I8 & fo1T Uiy ¥ Fshgfeg STt fava1 g1
Options :

1. % 3,672 24U

2. % 3,702 %4UU

3. % 3,732°%UC

4. 3,762 U

Question Number : 51 Question Id : 59445943878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of Rs 40,000 amounts to Rs 52,900 after applying a compound interest per annum compounded half-yearly for 1 year. What is the
annual nominal rate of interest?

Options :
1. #® 25%
2. % 30%
3. % 35%
4. % 40%

Question Number : 51 Question Id : 59445943878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1agémaﬁ-mﬁ$m@wqﬁaﬁdwq® TS A & 918 40,000 ST DT AT 52,900 TUY B ST €1 AP Hidh b STl &R
g2




Options :
1. % 25%
2. % 30%
3. % 35%
4. % 40%

Question Number : 52 Question Id : 59445943879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car can go up a hill at 40 kmph. The speed coming down the hill is 50% more than the speed going up the hill. If the distance is 60 kms, find
the time taken to come down the hill.

Options :

1. # 2.5 hours
2. # 2 hours
3. % 1.5 hours
4. % 1 hour

Question Number : 52 Question Id : 59445943879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP PR 40 kmph T USTS! TR I¢ Taball 3| TETS! A 12 I &1 71 RISt g &1 71 | 50% 31fee 31 3 G 60 kms B, A UgTSt @ =
I W A aTel THT 1 B

Options :
1. % 254c
2. % 2°c
3. % 1549
4. 19c]

Question Number : 53 Question Id : 59445943880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If speed of the boat downstream is 4 time the speed of the boat upstream and the speed of stream is 9 kmph, then find the speed of the boat in still



water?

Options :

1. * 12 kmph
2. % 13.5 kmph
3. * 14.4 kmph
4. % 15 kmph

Question Number : 53 Question Id : 59445943880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 1d &1 T SIIATE & UfdGHd 1 Bt T SHEWdTe &1 4 7T § 3R URT P19 kmph 8, T FRUR 57 & 1@ &1 71fd 710 B2
Options :

1. ® 12 kmph

2. % 13.5 kmph

3. #* 14.4 kmph

4. % 15 kmph

Question Number : 54 Question Id : 59445943881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y can alone do a job in 40 and 60 days respectively. They work together for 20 days and then X had to discontinue due to some injury.
How many days will now Y take to complete the job?

Options :
1. % 4
2.% 6
3.% 8
4.9 10

Question Number : 54 Question Id : 59445943881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 3R Y 3 Th BRI B ShHTT: 40 3R 60 fe=I H B Jbd g1 3 20 & Th T 1Y H1H B & 3R b X Bl fbdft e b dRur ol



Bl USAI gl Y 3d B Bl TR HA | fobaA fa A
Options :

1. % 4

2. %6

3. %8

4.4 10

Question Number : 55 Question Id : 59445943882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X is thrice as efficient as Y and can do a job in 36 days less than Y. In how many days can X do the job alone?
Options :

1. 18

2. % 24

3. % 32

4. % 36

Question Number : 55 Question Id : 59445943882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y 9 I T H § 3R et Sl dl v ¥ 36 fo7 HH & B vt 8| X 3fhdl 39 B D v faml § v Tavat 82
Options :

1.¥ 18

2. % 24

3. % 32

4. % 36

Question Number : 56 Question Id : 59445943883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the volume of a hollow pipe with a height of 35 cm and outer and inner radii of 21 cm and 14 cm respectively.
Options :



1. % 26,950 cu cm
2. % 53900 cucm
3. % 67,375 cucm
4. # 1,34,750 cu cm

Question Number : 56 Question Id : 59445943883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T WGRIQ UTSY 1 SMAH T B oD ! $HaTs 35 cm & AR e8! 3R it B 9 21 em 3R 14 em B
Options :

1. ¥ 26,950 cu cm

2. % 53,900 cu cm

3. ® 67,375 cucm

4. % 1,34,750 cu cm

Question Number : 57 Question Id : 59445943884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of 2 cylinders A and B with the same height of 21 cm are in the ratio of 4:9. The sum of their radii is 35 cm. Find the total surface
area of cylinder A.

Options :

1. % 1540 sq cm
2. % 2310 sqcm
3. % 3465 sq cm
4.+ 3080 sq cm

Question Number : 57 Question Id : 59445943884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
21 cm B JHM FT8 1A 2 ST A 3R B BT A 4:9 & JATd H € | Ib! Barsil &1 31 35 cm 81 90 A BT Hdl Y¥IT 8%d J1d
B

Options :




1. * 1540 sq cm
2. % 2310sqcm
3. % 3465 sqcm
4. ¥ 3080 sq cm

Question Number : 58 Question Id : 59445943885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the purchases, sales and different expenses of a company for different years. What percentage of sales have been spent as
delivery charges across the years?

Particulars
Year
Purchases Sales Salary Bonus Delivery
2016 S0000 75000 T000 400 2500
2017 60000 48000 4800 350 3750
2018 20000 90000 6000 350 2550
2019 83000 92000 7200 200 3200
2020 90000 110000 8000 300 4600
Options :
1. % 2%
2. % 3%
3.9 4%
4. % 5%

Question Number : 58 Question Id : 59445943885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%ﬁwgﬁ%ﬁwﬁﬁ@ﬁaﬁﬁ&ﬁ?ﬁﬁamﬁmﬁﬁ%l forsd auf & faaRur Yoo & =0 H fop! o1 fpan ufawra
Targ?



2016 SO000 75000 7000 400 2500
2017 60000 AR000 4800 350 3750
2018 B0000 Q0000 6000 350 2550
2019 82000 Q2000 7200 200 3200
2020 Q0000 110000 B000 300 4600

Options :

1. ® 2%

2. % 3%

3. ¥ 4%

4. % 5%

Question Number : 59 Question Id : 59445943886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon shows the expense ratio of a company in different years. The expenses and profit percent add up to the revenue. If the
expenses for the years 2017 and 2019 were the same, then what was the revenue ratio of 2017 and 2019?
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Options :
1. % 11:14
2. % 11:13
3. % 13:11
4.+ 13:14

Question Number : 59 Question Id : 59445943886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 11:14
2. % 11:13
3. % 13:11
4.9 13:14

Question Number : 60 Question Id : 59445943887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon shows the exports and imports of a country (in $ billion) for different years. For which year is the trade surplus expressed
as a percentage of exports the highest? (Trade Surplus = Exports - Imports)
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Options :
1. # 2016
2. % 2017
3. % 2018
4. 2019

Question Number : 60 Question Id : 59445943887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MgT Ig Y fafta auf & fore =1 & fafa Sk smard (s fafera &) &1 gwiiar g | fvg adf & forg =R sifeiy @ fafd & ufawa & =4
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Options :
1. % 2016
2. % 2017
3. % 2018
4.+ 2019
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Question Number : 61 Question Id : 59445943888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

If ice forms on the wings or control/ surfaces, this may adversely effect/ the flying qualities of the aircraft.
Options :

1. # Ifice forms on the wings or control

2. ¥ surfaces, this may adversely effect

3. # the flying qualities of the aircraft.

4. ¥ No Error

Question Number : 61 Question Id : 59445943888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

If ice forms on the wings or control/ surfaces, this may adversely effect/ the flying qualities of the aircraft.
Options :
1. # Ifice forms on the wings or control

2. ¥ surfaces, this may adversely effect



3. # the flying qualities of the aircraft.
4. % No Error

Question Number : 62 Question Id : 59445943889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The company specializes in children's/ and babies' wear, ladieswear,/ and mens' sportswear.
Options :

1. # The company specializes in children's

2. % and babies' wear, ladieswear,

3. % and mens' sportswear.

4. % No Error

Question Number : 62 Question Id : 59445943889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The company specializes in children's/ and babies' wear, ladieswear,/ and mens' sportswear.
Options :

1. % The company specializes in children's

2. % and babies' wear, ladieswear,

3. ¥ and mens' sportswear.

4. % No Error

Question Number : 63 Question Id : 59445943890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the



option 'no correction required' if the sentence is correct as given.

(Many a men fails as an original thinker) simply because his memory is too good.
Options :

1. ¥ Many a men fail as an original thinker

2. ¥ Many mens fail as an original thinker

3. % Many a man fail as an original thinker

4. ® No correction required

Question Number : 63 Question Id : 59445943890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Many a men fails as an original thinker) simply because his memory is too good.
Options :

1. # Many a men fail as an original thinker

2. # Many mens fail as an original thinker

3. % Many a man fail as an original thinker

4. ® No correction required

Question Number : 64 Question Id : 59445943891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Although wool can be damaged by moths, it contains lanolin, (that naturally help it protects itself from these insects).
Options :

1. # that naturally help it protect itself from these insects

2. ¥ which naturally helps it protect itself from these insects

3. # that naturally helps it protect itself from these insects

4. ® No correction required



Question Number : 64 Question Id : 59445943891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Although wool can be damaged by moths, it contains lanolin, (that naturally help it protects itself from these insects).
Options :

1. % that naturally help it protect itself from these insects

2. % which naturally helps it protect itself from these insects

3. * that naturally helps it protect itself from these insects

4. # No correction required

Question Number : 65 Question Id : 59445943892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Day and night gophers and rabbits hop through several concentric fences onto the lawn and out again.

Options :

1. % prattle
2. ¥ scuttle
3. * Drattle
4. % twattle

Question Number : 65 Question Id : 59445943892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Day and night gophers and rabbits hop through several concentric fences onto the lawn and out again.

Options :



1. # prattle
2. ¥ scuttle
3. % bDrattle
4. ® twattle

Question Number : 66 Question Id : 59445943893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Anteaters have long snouts which they thrust into ant-heaps in order to the ants or termites.
Options :

1. % savour
2. % devour
3. % endeavour

4. % fervour

Question Number : 66 Question Id : 59445943893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Anteaters have long snouts which they thrust into ant-heaps in order to the ants or termites.
Options :

1. % savour
2. % devour
3. % endeavour

4. % fervour

Question Number : 67 Question Id : 59445943894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a



paragraph.

Mount Everest is a peak in the Himalaya mountain range.

P. It is located between Nepal and Tibet, an autonomous region of China.

Q. At 8,849 meters (29,032 feet), it is considered the tallest point on Earth.

R. In the nineteenth century, the mountain was named after George Everest, a former Surveyor General of India.
S. The Tibetan name is Chomolungma, which means “Mother Goddess of the World.”

The Nepali name is Sagarmatha, which has various meanings.

Options :

1. % SRQP
2. ¥ PQRS
3. % RQPS
4. % SPQR

Question Number : 67 Question Id : 59445943894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Mount Everest is a peak in the Himalaya mountain range.

P. It is located between Nepal and Tibet, an autonomous region of China.

Q. At 8,849 meters (29,032 feet), it is considered the tallest point on Earth.

R. In the nineteenth century, the mountain was named after George Everest, a former Surveyor General of India.
S. The Tibetan name is Chomolungma, which means “Mother Goddess of the World.”

The Nepali name is Sagarmatha, which has various meanings.



Options :

1. # SRQP
2. ¥ PQRS
3. ¥ RQPS
4. % SPQR

Question Number : 68 Question Id : 59445943895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Celerity
Options :

1. ¥ Swift

2. % Dull

3. % Careful
4. # Sluggish

Question Number : 68 Question Id : 59445943895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Celerity
Options :

1. ¥ Swift

2. % Dull

3. % Careful
4. % Sluggish

Question Number : 69 Question Id : 59445943896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is opposite in meaning (ANTONYM) to the word given below

Sentinel
Options :

1. # Inoculate
2. # Protector
3. ¥ Sentry
4. ¥ Hazard

Question Number : 69 Question Id : 59445943896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Sentinel
Options :

1. # Inoculate
2. % Protector
3. # Sentry
4. ¥ Hazard

Question Number : 70 Question Id : 59445943897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % secaretary

2. % secretery

3. ® secratary

4. ¥ secretary

Question Number : 70 Question Id : 59445943897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # secaretary

2. % secretery

3. # secratary

4. ¥ secretary

Question Number : 71 Question Id : 59445943898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ colleague

2. # collaegue

3. % collegue

4. # coleague

Question Number : 71 Question Id : 59445943898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ colleague

2. # collaegue

3. % collegue

4. # coleague

Question Number : 72 Question Id : 59445943899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



To steal someone's thunder

Options :

1. ® If you want something to be completely properly, then its going to take time.
2. % Separated usual judgement to guarantee protection, especially project funds.
3. % Win praise for oneself by pre-empting someone else's attempt to impress.

4. ® A very loud and noisy rain storm.

Question Number : 72 Question Id : 59445943899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

To steal someone's thunder

Options :

1. # If you want something to be completely properly, then its going to take time.
2. # Separated usual judgement to guarantee protection, especially project funds.
3. % Win praise for oneself by pre-empting someone else's attempt to impress.

4. # A very loud and noisy rain storm.

Question Number : 73 Question Id : 59445943900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Tie the knot

Options :

1. ¥ To get married.

2. % Saved at the last possible moment.
3. # To be completely out of energy.

4. % A rough estimate.

Question Number : 73 Question Id : 59445943900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Tie the knot

Options :

1. % To get married.

2. % Saved at the last possible moment.
3. # To be completely out of energy.

4. % A rough estimate.

Question Number : 74 Question Id : 59445943901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Days when day and night are of the same length
Options :

1. ¥ Equinox

2. % Indignation

3. # Almanac

4. % Jaunt

Question Number : 74 Question Id : 59445943901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Days when day and night are of the same length
Options :

1. ¥ Equinox

2. % Indignation

3. % Almanac



4. % Jaunt

Question Number : 75 Question Id : 59445943902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Dangers or problems that are hidden or not obvious at first
Options :

1. * Truce

2. ¥ Pitfall

3. #® Privy

4. % Gratuity

Question Number : 75 Question Id : 59445943902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Dangers or problems that are hidden or not obvious at first

Options :

1. ® Truce

2. ¥ Pitfall

3. % Privy

4. % QGratuity

Sub-Section Number : 2
Sub-Section Id : 5944592033
Question Shuffling Allowed : Yes

Question Id : 59445943903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the passage carefully and choose the best answer to each question out of the four alternatives.



Many of the underdeveloped countries will promote the growth of their economies in one way or the other, no matter whether they receive
substantial outside aid in the process or not. The character of that development, however, is likely to be strongly influenced by the types of and
amounts of aid available. The outcome is much more likely to be favourable, from the standpoint of the objectives for successful development set
up previously, if there is substantial international aid than if there is not.

By substantial aid I mean not only large amounts of technical assistance but also of capital. Initially, the capacity of an underdeveloped country to
use capital productively may be surprisingly small, limited by lack of organisation, trained personnel and other social obstacles. At this stage
technical assistance is the main need from outside, with comparatively small amounts of capital, much of which may have to be in the form of
grants for non-self-liquidating projects, in education, health, access to roads in rural areas, and the like, if, at this stage, substantial capital is
available from outside to supplement what can be formed internally (and to simulate internal capital formation, for it does that too) the rate of
economic growth can be consistently increased, and the strains and frustrations and political risks of the development are likely to be
considerably less.

It is possible for underdeveloped economies to modernise themselves with very little capital from outside.

Sub questions

Question Number : 76 Question Id : 59445943904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what strongly influences growth of economies?
Options :

1. # Domestic aid

2. % Government policies

3. % Types and amounts of aid available

4. % Foreign aid

Question Number : 77 Question Id : 59445943905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the speaker mean by "substantial international aid"?
Options :

1. # Type of aid received

2. % Clear objectives for development

3. % Technical assistance with infusion of capital

4. # Infusion of large capital



Question Number : 78 Question Id : 59445943906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the initial need of an underdeveloped country?
Options :

1. # Dispersal of capital

2. ¥ Technical assistance

3. # Infusion of Capital

4. # Strong government polices

Question Number : 79 Question Id : 59445943907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # At initial stages small amount of capital infusion is needed mostly in the form of grants for non-self-liquidating projects, in education,
health, access to roads in rural areas.

2. ® The character of the development of economies is likely to be strongly influenced by the types of and amounts of aid available.
3. # Many underdeveloped countries try to boost their economic growth with or without outside aid.

4. ¥ Infusion of large capital is the most important thing to boost a country's economic growth.

Question Number : 80 Question Id : 59445943908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of economy can benefit from technical assistance in the initial stages of development?
Options :

1. #® developing economies

2. ® growing economies

3. # developed economies

4. ¥ underdeveloped economies

Question Id : 59445943903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (76 to 80)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

Many of the underdeveloped countries will promote the growth of their economies in one way or the other, no matter whether they receive
substantial outside aid in the process or not. The character of that development, however, is likely to be strongly influenced by the types of and
amounts of aid available. The outcome is much more likely to be favourable, from the standpoint of the objectives for successful development set
up previously, if there is substantial international aid than if there is not.

By substantial aid I mean not only large amounts of technical assistance but also of capital. Initially, the capacity of an underdeveloped country to
use capital productively may be surprisingly small, limited by lack of organisation, trained personnel and other social obstacles. At this stage
technical assistance is the main need from outside, with comparatively small amounts of capital, much of which may have to be in the form of
grants for non-self-liquidating projects, in education, health, access to roads in rural areas, and the like, if, at this stage, substantial capital is
available from outside to supplement what can be formed internally (and to simulate internal capital formation, for it does that too) the rate of
economic growth can be consistently increased, and the strains and frustrations and political risks of the development are likely to be
considerably less.

It is possible for underdeveloped economies to modernise themselves with very little capital from outside.

Sub questions

Question Number : 76 Question Id : 59445943904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what strongly influences growth of economies?
Options :

1. # Domestic aid

2. % Government policies

3. % Types and amounts of aid available

4. # Foreign aid

Question Number : 77 Question Id : 59445943905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the speaker mean by "substantial international aid"?
Options :

1. # Type of aid received

2. % Clear objectives for development

3. % Technical assistance with infusion of capital



4. # Infusion of large capital

Question Number : 78 Question Id : 59445943906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the initial need of an underdeveloped country?
Options :

1. # Dispersal of capital

2. ¥ Technical assistance

3. # Infusion of Capital

4. ® Strong government polices

Question Number : 79 Question Id : 59445943907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # At initial stages small amount of capital infusion is needed mostly in the form of grants for non-self-liquidating projects, in education,
health, access to roads in rural areas.

2. % The character of the development of economies is likely to be strongly influenced by the types of and amounts of aid available.
3. % Many underdeveloped countries try to boost their economic growth with or without outside aid.

4. ¥ Infusion of large capital is the most important thing to boost a country's economic growth.

Question Number : 80 Question Id : 59445943908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of economy can benefit from technical assistance in the initial stages of development?
Options :

1. # developing economies

2. # growing economies

3. % developed economies

4. ¥ underdeveloped economies
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Question Number : 81 Question Id : 59445943909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy §, IR foweal 7 9, 39 faweu &1 97 &% ot feu v TfY fawye ot IfY &1 9et fdweu 81|
3E: + T

Options :




1. % 3Tl
2. % (YT
3. % 3y
4. ¢ JYNTIA

Question Number : 81 Question Id : 59445943909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafeRad Uy |, IR fAdcul 7 9, 39 fdwey &1 9949 33 ol foT ¢ I fawse &1 9fY &1 98! fawea g1l
37¢: + Tfd

Options :

1. % 3T
2. % S{YNTAl
3. % Yl

4. ¢ YN

Question Number : 82 Question Id : 59445943910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8, IR fawedl & 9, 39 fddhed &1 999 o A 3/e0g o e &1 Ugl [ddbed gl
TY HTH A4 I HY R 8 9 6

Options :

1.« fura

2. % AdYSIYDH

3. % qAgEYD
4. % fowmorfeaiy®

Question Number : 82 Question Id : 59445943910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFufafad a7, IR Al § T, I fawey &1 T B St 3100 & U &1 Jal fddbed gl
Y BT ITH o+ AT A Y R & offd g

Options :

1. ¢ fqurg

2. % JIYSYDH

3. % JAgEYD
4. % fqwAIedIy®

Question Number : 83 Question Id : 59445943911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafed vy & ar sl & 9, 39 fawed &1 997 $HY S SR Vg &1 T8t fadhed gl
Options :

1. ¥ dH

2. ¥ J[dl

3. % A

4. % IIdH

Question Number : 83 Question Id : 59445943911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! & 9, 39 [9aed &1 997 &< ol 4TSl Xeg BT Hg! [aded gl
Options :

1. # b

2.9 [dl

3. % I

4. % I

Question Number : 84 Question Id : 59445943912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy &, IR fawedl O T, 39 faswed &1 999 &< S ®Igd U faU 7T Weq & AR a=Iw0r o Ug arell fddhed gl
(@Ts) T GR W ATH Tl g

Options :

1. % gRHATUERS
2. % JHAIH
3. ¢ TIGAHS
4. % TUIATID

Question Number : 84 Question Id : 59445943912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 1, IR fasedl B 9, 39 fdded &1 9= B ol HI¥d T AT U e o YR IRVl & Ue ara fadhed 31|
@'%) W gR W 3HR Tl ¢

Options :

1. ® gRUTUERIS
2. % RGOS
3. ¢ TAHG
4. % TUGREISH

Question Number : 85 Question Id : 59445943913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad us o, IR fawedl § 9, 39 fawed &1 70 &L Sl Y Ve &1 Ga! fAhe 7
Options :

1. ® AHdhd

2. % 3Pd

3. % 3I%d

4.9 ST




Question Number : 85 Question Id : 59445943913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy §, TR fawent § 9, 39 faswey &1 7o &3 Sl Y Ueg &1 Ta! fAweu 71
Options :

1. % 3l

2. #® 3 pd

3. #® AJpd

4. TR

Question Number : 86 Question Id : 59445943914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaied vy o, 9R fawed! § 9, 39 fawed &1 997 3 Sl U 7T Xeg & FHHIT 2reg; 31 fadhed 81 5
Y -
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. URY

2.¢d

3. P

4. fafg

Question Number : 86 Question Id : 59445943914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR eedl 7 9, 39 9 cd o1 987 &% ot faU 7T e & JAMRIT Weg 1 fadhey 78T 71

Yy -




Note: For this question, discrepancy 1s found in question/answer. So,this
question 1s 1ignored for all candidates.

Options :
1. URsY
2.¢d

3. Bt
4. fafg

Question Number : 87 Question Id : 59445943915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy A, IR e & 3, 39 9wy &1 T B oY {3 e T a9 33T fAped 5|
pd

Options :
1. % fashy
2. ¥ od¥
3. % §Y
4. % 3YY

Question Number : 87 Question Id : 59445943915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed Uy 5, TR faeedl & O, 39 fddey &1 999 &1 il faed Teg &1 Jad 3] [dhed B
CaSEl

Options :
1. ® fapy

2. ¥ Hd¥
3. % qY



4. % YU

Question Number : 88 Question Id : 59445943916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ue o, IR fadwedl O 9, 39 9a! [ddwed o1 9g+ &< il fAT T Weg-TH o He! 31 &1 Ifd fawe 51|

R
Options :

1.  pdl-3{U-l
2. % THSLAR
3. % A3

4' " W-ol S

Question Number : 88 Question Id : 59445943916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o, IR fadwenl O 9, 39 9g! [dded &1 99 &< ol [GT U Wea-FH o W Y &1 3fad fawea 71|

4
Options :

1. & 'odl-3U-l
2. % THS-AG
3. % TGRA-S(UAT
4. % HA-GH]

Question Number : 89 Question Id : 59445943917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawedl § 9, 39 fadmed &1 98 &< off {4 T8 a1 & g 3 & N &1 gad o1 fased g |

S 7 AR UGS B 3] g




Options :

1. % faegef

2. % Yagrd

3. ¢ fgrd
4. % grTaTd

Question Number : 89 Question Id : 59445943917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥, aR fowedl & T, 39 fawey &1 999 &3 Sl foU TU areg & fore gy & Y &1 9ad o1 fased ]

S H TTIHR UGTs B 3B B
Options :

1. % faemdf

2. % Feagrd

3. ¢ fgamed
4. % Ty

Question Number : 90 Question Id : 59445943918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy |, IR fadel A ¥, 39 fdwey &1 999 B3 5 ol 9180 He &1 f[ddbed gl
a1 7T FUS AR 31T B

Options :

1. % fayHarash
2. % iy

3. % g

4, ¢ I

Question Number : 90 Question Id : 59445943918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR el 7 9, 39 faweu &1 997 &% St 9gl a1ad U &1 fdbeu gl
HidT 1T HUS AR 3718

Options :

1. % fqyrars®
2. % oy

3. % Hgad

4, ¢ Il

Question Number : 91 Question Id : 59445943919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ieeal 7 9, 39 fahca &1 987 &% ot feU 7T 9/ & fol uai & Ve &1 9ad 331 [y g |
I dgd B &1 a9 ST a8 !

Options :

1. % gaTfd=la®
2. ¢ WITTNAD
3. % fQdrds
4. % gofdrede®

Question Number : 91 Question Id : 59445943919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & T, 39 f9hed &1 T B &l 3T 77T 919 & ol Uel & U o o 331 f[aheu 5|
I 9gd Had &1 dd ST 98 91!

Options :

R IGCIRED
2. ¢ TG D
3. % fAgdrIas




4. % gofdrede®

Question Number : 92 Question Id : 59445943920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered uy #, IR faswedl # 9, 39 fadbed &1 94 o3 ol favm g o aTes &7 Hal fddhed gl
Options :

1. % ST 3 G foh- 2mae 3 YT & HRUTEH 81 9138 8

2. % ST A G o [ME T Y9 & HRUTEH ol 9138 82

3. ¢ ST A T {6 WS T 49 & SR §H gl 917 B

4. % ST A Qe fob, AW A YO & HRUT, §H 8l 9138 3

Question Number : 92 Question Id : 59445943920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 8, IR fosddl T 9, 39 fdeed &1 9a- 3 ol faR1 Fg gad a1 &1 Iel fdbed |
Options :

1. % o 3 G fob- 2rae 3 49 % BRI gH T I R 8

2. % o1 A Tt o RMAE 3 YT & HROTEH e a1 38 &7

3. ¥ ST = T 3 91 A 4G & HRUTEH T8 a1 §

4. % ST < G o, G A YO P HRUT, §H 81 9138 B

Question Number : 93 Question Id : 59445943921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 8, IR fowddl 7 9, 39 fdwe &1 997 3 o AT U deifaa &1 gt 31 arer fasweu g |
BT | 37T T -

Options :

|. % TSI BT HRUT BT

2. ¢ b R b 3T




3. % 3(U4 HTH Y Addd 1G]
4, % 3] HTH GG HRA]

Question Number : 93 Question Id : 59445943921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR fowddl 7 9, 39 fdhe &1 90 3 oY AT U Aol &1 9gt 31 arern fasweu g |
BT H 37T T -

Options :

1. % ASTS BT BRI

2. ¢ b R b 3T

3. % 30 H1H Y AdAd G

4. % U1 HTH GG BRI

Question Number : 94 Question Id : 59445943922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad oy & o fawed # 9, 39 fawey &1 Tg9 &3 ot &Y 718 YeTa &1 Ja! 3 arer fadwe ]
f& fop=e -

Options :

1. & =3 JHY 3T
2. % 3[IYTGH BT
3. % URIG g

4. % g g

Question Number : 94 Question Id : 59445943922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadhed &1 9a &3 ol &1 718 JeTaX &1 Ja! o a1 fadwed g1



fa foper -

Options :

1.« ST HHYT ATl
2. % UdRH Bl
3. % URIG g

4. % g g

Question Number : 95 Question Id : 59445943923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, oR fowenl # 9, 39 fadhed &1 797 B S < 718 GgTdR &1 e 3 are fdsed g |

R O §ef eTer T -
Options :

1. % BT

2. % YRy T U HAMT
3. ¢ gHlad § e geH
4. % T3 Hfad

Question Number : 95 Question Id : 59445943923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 9, 39 faded &1 9g9 &3 ot &1 718 GeTaX &1 Ja! 3 ara fadwe §1

R T 9 T -
Options :

1. % S

2. % SRETYS Y 9 HHE
3. ¢ OHled I Ue g
4, % = fad

Sub-Section Number : 2




Sub-Section Id : 5944592035
Question Shuffling Allowed : Yes

Question Id : 59445943924 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR & SMYE® U 3R IR fadhed § ¥ Udd U &1 garad SR g |

A BHRY et 3 TG TS bU13il A el 3ifeiep fafert 3R AR gidl ¢, 39 Sfeki BT Ug 3MGH! =eidl-thdl eid g | H Sfd it JHidre
ST 5, 3719 SReR fHrerdl g | foba TRa-Fsbue, foham faAid) ofR fofatiaen g TR 418 A o o, S i Uiy oY 3 371 I8 &
T g Tpd H Ugrd & el | Al &1 JHdT ¥ dfeyd, Ut & werayfa 3 o dfera, Tt # o oot v SR eifSfa g @ 19, sga T &
TR R I FofeTh TR &7 &1 TR I8 fed SRR o arara-aid § ST fTshifasT 3R AR Sqa did Tl 81! 3w -
gfafict & WMhaRI o) ool &, T 36 3R OV feAmT B 39 Wod AReR &1, WR 39 ST fGHTT &1 Uiay 3qa-31ma et e | sgd
IHUNY s, AH AT 8T, 38 307 o8 & Wa # il 1R i 19 78| 1o ST # glep! & S5 RadiTs! X6 9o d, 3o +ff St
JapITed SoTE & W1Y U] Hd ¢d ¢ | H 37018 off X1 § 3R T 9ex] {1 & T8l 38=T1-98 Udl I R 381 de ANl & gicg 3R
TR o faRrearsii & TR # Uft-Udt ard adrs fob § <71 3g |

Sub questions

Question Number : 96 Question Id : 59445943925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
35S & TR T HYI B 82
Options :

1. % HegT Y UGS

2. ¢ fafem SR fawmerd

3. % ¥gl SR

4. % oy 3R HUC

Question Number : 97 Question Id : 59445943926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR Sff & Sifgd TR BT U=y o g o urdm ur

Options :




1. ¥ 38 30 I & U & P18 Sy a1 ft
2. % I I gf IaT 3BT el At
3. % il d fe@mar od ¥

4. % Fifd I dgd IHUM TSl Ul

Question Number : 98 Question Id : 59445943927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ALH U St P ford SFRY I &7 38 T

Options :

1. % o1 AN & Sfagr iR IRG A [ARwdrsf & TR # AReR St &I ®is SHeRI 7o) At gafen
2. % gl Bl Pls H STHBRI ol 811 & BRI

3. ¢ AR AN & Sfag™ SR IR faRarstt & aR H AReR off & STHGRT I

4. % 39 IH P Y b PR

Question Number : 99 Question Id : 59445943928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 A B - 1 Rrsiifas 1 fadm wres 32
Options :

1. % qHAT

2. ¢ TNl

3. % SQ

4. % digl

Question Number : 100 Question Id : 59445943929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 RGP Dlg SUGad Loe-
Options :

1. % gaoifed I8

2. % fowgeR




3, % Y BT I
4.« AT Y R BT I

Question Id : 59445943924 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR B YIS U 3R IR fawed! & 9 UdH UY &1 Jarad I g |

T TR BT 3 TG TS HUTST & ol 31feb fafer 3R fawaeR g1l ¢, 39 3o BT U SMGH! Teidl-hal e8id g | H o ot J-iara
STl g, 79 SReR et dl § | fora) IRat-Fshue, fbam faidt 8k fofarfea g1 3k HIs A s o1, o fUed U< sR9 A 371 9edil 5
TS &1 Wod H UgId ¢ <l | AT ot 7HdT I dfd, uel &t Jeryfa ¥ o dira, garst & off o= avgar ik siffa amd @ -, sga - &
TR R R e TeR 27 &1 siftrered g8 safd SR oy rara-did 3 o= forshfawr ok A Sqa- Wi grdr g s
GFAARICT & UIhER| B Aol ¢, 8T 3 3R o9 fSHN 8 39 Thdl HReR B, TR I ST fGHRT &1 UR<R 304-3119 g1 e | 9gd
IHUY BIs, TH e | 781, I 307 5o b UG H i 4R+t 3fa 78T | 310 9 # glebt & S5l Raeirs| 8 o d, 3ol Hi It
gadIfad ITe & T1Y °el I 31 § | 7 §10S ST XET § 3R U Jo=1 i & IgT 381-U8 Udl Ia IR 361 de’l arl & Sfaem 3iR
IR o faRrwarsit & TR # Uf-Udt ard T8 fob & <1 3 |

Sub questions

Question Number : 96 Question Id : 59445943925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
35S & SIHR T TSIl 82
Options :

1. % BT g HRI g

2. ¢ fafem SR fawmar

3. % gt 3R fafad

4. % o8 3R HU

Question Number : 97 Question Id : 59445943926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR St & difgd TR BT IR T et et rar U

Options :



1. ¥ 38 30 I & U & P18 Sy a1 ft
2. % I I gf IaT 3BT el At
3. % il d fe@mar od ¥

4. % Fifd I dgd IHUM TSl Ul

Question Number : 98 Question Id : 59445943927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ALH U St P ford SFRY I &7 38 T

Options :

1. % o1 AN & Sfagr iR IRG A [ARwdrsf & TR # AReR St &I ®is SHeRI 7o) At gafen
2. % gl Bl Pls H STHBRI ol 811 & BRI

3. ¢ AR AN & Sfag™ SR IR faRarstt & aR H AReR off & STHGRT I

4. % 39 IH P Y b PR

Question Number : 99 Question Id : 59445943928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 A B - 1 Rrsiifas 1 fadm wres 32
Options :

1. % qHAT

2. ¢ TNl

3. % SQ

4. % digl

Question Number : 100 Question Id : 59445943929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 RGP Dlg SUGad Loe-
Options :

1. % gaoifed I8

2. % fowgeR




3, % Y BT I
4.« AT Y R BT I

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 59445943930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Disciplinel

6
5944591022

Disciplinel

5944591747
1

Online
Mandatory
20

20

20

Yes

1
5944592036
Yes



Orfeaeyul &5 T2

Options :

| % HHCHEY
, o [aYE

3 % OFTATYY

4 % ?ﬂﬁg:f:

Question Number : 101 Question Id : 59445943930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIfeeUn &g TT1?

Options :
| % THCENH
5 o TaTTUY

3 = OETATYY

4 ® Tﬂﬁg:f:

Question Number : 102 Question Id : 59445943931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Bfa TRy v Tfeeatumy

Options :
1% TR

7w
3 % -d

4 v X

Question Number : 102 Question Id : 59445943931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bfa TRy v Tfeeatumy

Options :
x99
S

3 % -d

4 v X

Question Number : 103 Question Id : 59445943932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fasFTUHd SHIeR I HIHH?



Options :
1, v I

HId[HDH

2:3-5 ~

3. %

-~

4 SIETHDH

Question Number : 103 Question Id : 59445943932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa2TYHT B aTed HIFH?
Options :

| v HIHPH

HIA[HDPH

2%-3 ~

LUHDH

33-5 ~

4 TSI

Question Number : 104 Question Id : 59445943933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHRIGIHT H YAl 3 &: ol Widhd: [ayrd=?



Options :

5 % Fgdd:
s« fqufas:
4, % A

Question Number : 104 Question Id : 59445943933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“YIHRIGHA H Yl 30 &: alY: Wigd: [qya-?

Options :

|« Y9TE
). et
;o Tt
4% SHITE

Question Number : 105 Question Id : 59445943934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HUGAH BT Y MagH?
Options :

3 @ Araleplididiy

HEIUH

4, % :

Question Number : 105 Question Id : 59445943934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIGIH S-Sy FagH?

Options :

3 ¢ Araleplididiy

HEIUH

4. % .

Question Number : 106 Question Id : 59445943935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Hugd J&YRI0T Fufd: &1?
Options :
1w SHAUD]

2;33@@:?[

4, % HICAI

Question Number : 106 Question Id : 59445943935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hugd JaRIu gald: &1?
Options :
1.« SIdDl

2_@33@[@:?[
3 % fOfGE

4w HIACI

Question Number : 107 Question Id : 59445943936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Hugd AfewHIg Sarr: A ha?
Options :

1% Il
2, % TRl
3 Al
4. v ol

Question Number : 107 Question Id : 59445943936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hagd AU Sl AH fbH?
Options :

1% Il
2, % Tl
3 AfeHl
4. v ol

Question Number : 108 Question Id : 59445943937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SHIAQYE! UeyH=T GiAd: HY:?

Options :

1.V T

Ly WA

-

, x GXIMH

-

4, % GIGRITH

n

Question Number : 108 Question Id : 59445943937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHIAQYE! UeyH=T GiAd: HY:?

Options :

1. ¥ @ >

Ly WA

-

, x GXIMH

-

4, % IR

n

Question Number : 109 Question Id : 59445943938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U WU §STH &: JUMG?
Options :

N RCICEERR
2. v SIS
3 % TRINEH;

g, % AR

Question Number : 109 Question Id : 59445943938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g TIfd U0 §aTH &: 302
Options :

| % OllgSR:
5 v HTRITEH:
3 % SRIRER;

4, % NG

Question Number : 110 Question Id : 59445943939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS hicd IRV WUH Xdld H ¢ Wf:?

Options :

1 % GLYIE
2. % STEIUL
3 % TR
4 v RITH

Question Number : 110 Question Id : 59445943939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g3 cd HAaRURY UUH Jaid H Ga ¥qid:?

Options :

1. ® ﬁmﬁi
, % STEIUL:
3. % E!E{ 3

4 v RIGE

Question Number : 111 Question Id : 59445943940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HH FIHH JaEUHET JBHICHH?

Options :
1. # TICHT

2. o HPUY
3. % SRR

4. % UHIDRY

Question Number : 111 Question Id : 59445943940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I EYH Y JaIeRUMHRT HodhChH?
Options :
1. #® TIch

7 o HPURY
3. % SENER

4. % YHARRY

Question Number : 112 Question Id : 59445943941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tdbicd UYHIGS A4 fad 2



Options :
1. v PR

5 % QAPIYARS:
3. ® xiﬂ@&

Question Number : 112 Question Id : 59445943941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tadbicd WYHIGH 4 fdhd 2

Options :
| v SAHRA:

5 % QAPIYATRS:
3. % x!ﬂ%&
4. % gfe

Question Number : 113 Question Id : 59445943942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o TYIDh:?



Options :

1. % ﬁ_crl
2. ® %E—Z
3. ¢ PR

4. ® didad:

Question Number : 113 Question Id : 59445943942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o TYIDh:?
Options :

1. ® ﬁgi
. ® %E—Z
3. ¢ PR

4. % divad:

Question Number : 114 Question Id : 59445943943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HEFIR] FRUT SIREA=I § W He IiFRgH?
Options :




4_&;3%?@

Question Number : 114 Question Id : 59445943943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRl ARV SIREATIe G He SfFRad?
Options :

| v droatd

) x 19G¥HE

3. % RAPRY

433%

Question Number : 115 Question Id : 59445943944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“uefiEgRd Sid 9 g

Options :



3 % Uchid=Ifd:
4 SIaI:

Question Number : 115 Question Id : 59445943944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“usigEid Sid i gi=i?

Options :

1% SIRIGRI
>« fARIfQ:
3. % GG
4. v GG

Question Number : 116 Question Id : 59445943945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TveligaRa 3guiied fhe?

Options :



| v HEHRG™ gud
, % HETHRAY 3ffcud
s % HETHRGYE JHId

4 % HEIHRG™ IR

Question Number : 116 Question Id : 59445943945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TveligERa 3uuiied fa?
Options :

| v FRTHRG™ a0d

, % HETHRGY 3fifcud
3 % HETHRGH §HUd

4 % FETHRG™ IR

Question Number : 117 Question Id : 59445943946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M Ve yyI-faydd: fgaag =4 Hafd-




Options :

| v AT
2 [HI:
s % JHY

LTHIUTTH

4. % .

Question Number : 117 Question Id : 59445943946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M Ve uyl-faydd: fgaawg =4 Hafa-

Options :

1. % W:I?ff:

2 L[HI:

3 % XHY

<THIUMH

4. % .

Question Number : 118 Question Id : 59445943947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T sgq faufda sif&?

Options :



| = HYHEIAHTET:
S R TIRIERIERE
3. % OFHITaHfRT:
4. v FEHITGHIE:

Question Number : 118 Question Id : 59445943947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Sfege faufa i

Options :

| R
. TR
v SRR

Question Number : 119 Question Id : 59445943948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgdia-ushde gwg Tead ¥ Hald?

Options :




Question Number : 119 Question Id : 59445943948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgdia-usag guie Wead b &4 yafd?
Options :
aH

I.H \

2 %

4.8 T

Question Number : 120 Question Id : 59445943949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fomamaT: o ge Aarary: i
Options :




4 % O

Question Number : 120 Question Id : 59445943949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feh O o 98 TeTaa=: 2 g?
Options :

| v DR

2. % Sélqt

; « UG

4 % O

Discipline2
Group Number : 7
Group Id : 5944591023

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 5944591748

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592037

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 59445943950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUUCqHe: BT SeilgE?
Options :

| v PR&BAUE:

5 % gYATquicT:

, x STIOUGISHIRT:



4 = SBITGHET:

Question Number : 121 Question Id : 59445943950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JUUGAYTd: DT SAga?

Options :

| v DREGIHET:
> % UYHIAHIERT:
s x STIOUGISHIRT:
4w SBIGHTE:

Question Number : 122 Question Id : 59445943951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHUTIUES G B2
Options :

| % SHHIU g
5 % DR HHAIGR



3.Maﬁﬁﬁﬂﬂﬁ$ﬁ
e SUYTa-Iagdd fgdrar

Question Number : 122 Question Id : 59445943951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHUNMAUTTS I fhe?
Options :

2. % iiiiz | I EEEE

, v PQAfadd oH

e SUYTa-Iagdd fgdrar

Question Number : 123 Question Id : 59445943952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dreared T 1 fqHiqaird?

Options :

|« T



Question Number : 123 Question Id : 59445943952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

deard g o faufdaiad?

Options :

|« T
2 = Tl
3 v Tecia
4 % HGH

Question Number : 124 Question Id : 59445943953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IYC TR BT faHfdd:?
Options :

il



s o T2
4% W81

Question Number : 124 Question Id : 59445943953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IYC YA BT faHldT:?
Options :

| w OHI

o = WYHI
5o T
4 % I

Question Number : 125 Question Id : 59445943954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRITGHIT 3 TG b AT Hafd?
Options :

| % TRIORHIE:



) Wiyt U-ITI%@:
s % GRUMYFETHIGT:

4 x [QHTERIOISTRAEY

Question Number : 125 Question Id : 59445943954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRITGHIT 3 TG b AT Hafd?
Options :

| % WRIORYG:
) NEIIEII U—ITI%'@:
s % GRUTYHHICT:

4w [OHTSRIOISTRAAT

Question Number : 126 Question Id : 59445943955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR g HIA UGV Sid T HIR-BRES TgawT?
Options :

| % DHBRE




4 % GHIGFBRSD

Question Number : 126 Question Id : 59445943955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 9 HIA HIGAL U Sid A HIeTmRS Tgaiq?
Options :

| % DHBRS

5 v HUPUHRSD

3, % SUlGd &

4 « GHIGHBRS

Question Number : 127 Question Id : 59445943956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y YTdl: ASDR YUHIBNEgaa T (dh 0H ?
Options :




Question Number : 127 Question Id : 59445943956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y YTdl: ASDR YUHIBNEgaa T (dh 0H ?
Options :

L x G

2. %

4

3 % OHT:

4. HHIT

Question Number : 128 Question Id : 59445943957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG sadG: Y 3 T4 HRTAHR Haid?

Options :




ASAPR

Question Number : 128 Question Id : 59445943957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG THHGI!: VY it U BIeT<IbR Hald?

Options :

Question Number : 129 Question Id : 59445943958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



GRIFH] &l T3 &:?

Options :

. BT
2% I€
3 % TId

v 94

Question Number : 129 Question Id : 59445943958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRIFH] &l T3 &:?

Options :

| % T
) % T
3. % TMid

v 94

Question Number : 130 Question Id : 59445943959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TG SARHEUE & UIg:?
Options :

% M
2. v 13
3 % 1019
S

4, %

Question Number : 130 Question Id : 59445943959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GIRG SRS &: UeIg:?
Options :

| %
2. v fai
3, % O
S

4. %

Question Number : 131 Question Id : 59445943960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AU TI=aTG Y TFerg; Y SaTeRuH HR&?

Options :

1. ® 311’71‘:[:
R 4 _\ﬁj:lmi

4. % BFGL

Question Number : 131 Question Id : 59445943960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Araearie s e T IR IGeUN H?

Options :

1. ® S{QT_\E[Z
2 W:
3, % 2SIC:

4, % BIa:

Question Number : 132 Question Id : 59445943961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AMIaERHRUS RO fhH?
Options :

RATUY

1. ¢ .

=0H

2:3-5 S

L4

3. %

4 % SAGH

Question Number : 132 Question Id : 59445943961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AMIAERETHRUIGRUT fhH?
Options :

RHATUH

1. ¥ .

, « T
4, % 290

Question Number : 133 Question Id : 59445943962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HYITARGTY BRI GG SH1a; R?

Options :

L% Wqﬂ:ﬁﬁﬂﬂ

, « (ABfaggd faftd
3. v i R

4% amﬁfﬁaaawﬁ

Question Number : 133 Question Id : 59445943962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HeTFIRIAY BT GG 3HIG: HRT?

Options :

| TE A TRY

, « [ABRIAEYH faftm
3. ST Rt
4 % ﬂ@ﬁfﬁlﬁ?@]ﬁ

Question Number : 134 Question Id : 59445943963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

‘HURGRYFT DA aclcl?
Options :

P R

2 v

s % OOl

4 % AW

Question Number : 134 Question Id : 59445943963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SPHRARYTAH, P T2

Options :

| GREH

2. v

3. % E! S

4 % T



Question Number : 135 Question Id : 59445943964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a@ﬂ@'ﬂﬁ HISTYAUIey: PA dai-?
)« 1Y
3, v QoI

4w G

Question Number : 135 Question Id : 59445943964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HAPHEHA HTBHROGAUNGY: A Ta=<1?
Options :

| % oAIH

2. % oy

3.¢ E!3| X

4 x S




Question Number : 136 Question Id : 59445943965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1.« SHRIT:
> % SUdla:
3. % fdad:
4 % [OPR:

Question Number : 136 Question Id : 59445943965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1.« AR
> % SUdla:
3. % fdad:
4 % [9BR:



Question Number : 137 Question Id : 59445943966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YehThT H H& TUET 7 Hafd?

Options :

| % SRT:
5 % A
3% GHU

4 JHEEH

Question Number : 137 Question Id : 59445943966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yeh T H B TUMET 7 Hafd?

Options :

| % SRT:
o w JHY
3% GHUE

4 ¢ JHEEH



Question Number : 138 Question Id : 59445943967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
da-aHd Bidide TIRA?
Options :

ELELL!

1. ¢

2. #® gE ﬁl
y x TR

4w SS9

Question Number : 138 Question Id : 59445943967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
daraHd Bidide TRRA?
Options :

EIEEL|

1. ¢



Question Number : 139 Question Id : 59445943968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEEIRN &: TF+: da-9R 7 gi¥fa:?

Options :

1.

7 o ‘Hﬂa:
s w [ORINUGRSEl
4 % CETCIE{UTEIEY;

Question Number : 139 Question Id : 59445943968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETEIRIAT &: TF: da-9R 7 gi¥ia:?

Options :

1.

2‘9/‘3{%2
3. % (ORINUTGRISA]

4 % ORI



Question Number : 140 Question Id : 59445943969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEHRT SRR Bl A& daraaR Aider?
Options :

[ % VIGCTIEUN

5« HNTHRTCEU

3 % JUTal-&un

4 % STUTGCTIEIUN

Question Number : 140 Question Id : 59445943969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEHRT SARA-ATE Bl A& daraaR Figer?
Options :

| w VIgCTI&UN

5« HNTHRTCEUT

3 % JUlal-d&ul

4 % SACTGCEN



Discipline3

Group Number : 8

Group Id : 5944591024

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 5944591749

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592038

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 59445943970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEIS ST 3 o g=iF Rrgra:?

Options :



Question Number : 141 Question Id : 59445943970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEI ST 3fd o R g2

Options :

Question Number : 142 Question Id : 59445943971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAUleddaa™ AHYFART?



Options :

| v HRE

2@3%’]51?3
3. % SIH

4. % SRR

Question Number : 142 Question Id : 59445943971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HYUigadd-a AHYART?

Options :

| v MR

2‘&;3%%?3
3. % S

4. % SRR

Question Number : 143 Question Id : 59445943972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ZHarg; %A fagfa?




Options :

e €
2 % B

v B
4 v TOUCE

Question Number : 143 Question Id : 59445943972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AMAg: $A fagfd?
Options :

| s
, % HUS

o I
4, v TPUCE

Question Number : 144 Question Id : 59445943973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HIGIRIAR AHYT i Ff?

Options :

| x O
% -d
3. v TR

4 % U

Question Number : 144 Question Id : 59445943973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIGIRIAR AHYT i Ff?

Options :

| x O
by % -d
3. v TR

4 % U

Question Number : 145 Question Id : 59445943974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T Tuld S 91993 &: 31 Hafa?

Options :
AR G HIadq

1. %

gl AR 58 HEadd

2.¥

. AN O3 $a7q

3.

. GHaIRE gF Hiadd

4.

Question Number : 145 Question Id : 59445943974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEA goid’ S 9199 &: 372 Hafa?

Options :

T

, o ST AN 38 HIGdq

4« SHAHIRN 38 HIaaq

Question Number : 146 Question Id : 59445943975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

‘eI Yo S &: 3darg:?

Options :

| x QoI

5w Y
4. ® ﬁﬁﬁﬂﬁ:

Question Number : 146 Question Id : 59445943975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘eI HNoH S & 3Udg:?

Options :



Question Number : 147 Question Id : 59445943976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT R Hidfded?

Options :

1. E z

ELELL!

2. %

5 % 9
s TG

Question Number : 147 Question Id : 59445943976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARTIAHREARH R Sidfdeyd?
Options :

1.¥ §E ~|

) FIT

3« GG



Question Number : 148 Question Id : 59445943977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T ° WIS 3id g TEUr?
Options :

|« Frmfad:
>, w ST
\. v TREEIRY
% SRR

Question Number : 148 Question Id : 59445943977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TG I WIGr Sid oy TEU?
Options :

1. ® ﬁlﬂﬂﬁf@
N LGy

3 & qﬁ_‘ﬁ_@zﬂﬁ%



4 % HYSRIAY:

Question Number : 149 Question Id : 59445943978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG IRG™A HifdE: T Hidfay:?

Options :
1. % ﬁﬁﬂ
2. q@ﬁﬂ

s« SSIAY:

4 ﬂ@é?l qy:

Question Number : 149 Question Id : 59445943978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RgBTRSG T Hifde: i1 Biafay:?
Options :

1. % %ﬂ

o ® q@ﬁﬂ

s« 9SAY



4 ﬂ@éﬁl qy-

Question Number : 150 Question Id : 59445943979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4. % og;

Question Number : 150 Question Id : 59445943979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



4. % RIS

Question Number : 151 Question Id : 59445943980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ e HRUT A2

Options :
)« RIS
3. v PRUMHIG:
4 % DRUMT:

Question Number : 151 Question Id : 59445943980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PTG HRUT ATRG?

Options :

1. ® HAqp U] L

2%-5 s
3. v DRUMHG:

4 % DRUMG:



Question Number : 152 Question Id : 59445943981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FRADTRD IR TUIHT Hfd g0 Gi=i?
Options :

1% ala®

0. ﬁzﬂﬂl
3 o odH;

4. % 93

Question Number : 152 Question Id : 59445943981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JRABTRBITIR JUITHT Hid g0 Gi=i?
Options :

1. % alaX

0 ﬁzﬂﬂ:
3. ¢ da¥:

4. % 93



Question Number : 153 Question Id : 59445943982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THEEU0 TIIR Hiafde:?
Options :

|« UBHOIRIfGY:

3« GHUIGH:

4 % ST qe:

Question Number : 153 Question Id : 59445943982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GEPEU YT Hiafay:?
Options :

|« UeHTgRifgy:

s« UPUFRIGH:

4, % PG qe:



Question Number : 154 Question Id : 59445943983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR YYMIGHT JoN: HIe”l haeqaTyiid?
Options :

| MOgETHARRETH

), x AP EINESRE|

s x UPIIBGEHIRETH

. | BN A BN G ARG [ o] RS Ea|

Question Number : 154 Question Id : 59445943983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR WA JoW: &2’ haequmiic?
Options :

| FOgEHARTET

) x HAIHG @G

3. % I g




4 Qﬁii%ﬁlﬂ %5@:@%@%’5‘11[

Question Number : 155 Question Id : 59445943984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¥ 2P GRASIRGAMTHIIRITY B:?
Options :

l.wm
2. % DT

\ o T

-

4. fgudy:

Question Number : 155 Question Id : 59445943984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e JHT: GG IRGAMIRIRadY &:2

Options :

| w SO

2. % \DE:

HEHYTH

3' w LY



4. fqody:

Question Number : 156 Question Id : 59445943985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HREIGRARIEl ST b Hafd?

Options :

| v YA
2. % NN
3. % O]

4 % BRI

Question Number : 156 Question Id : 59445943985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRSIERFRIA A & Hafa?
Options :

| v YH

) % WA

3, % OXEAU]



4 % BRI

Question Number : 157 Question Id : 59445943986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e gaerdgi 3id HuH?
Options :

v S

Question Number : 157 Question Id : 59445943986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YeIgaEridigh; gfd HurH?

Options :

l.v"g i



4. %

Question Number : 158 Question Id : 59445943987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bida Bidd: & 2
Options :

v B
o0

3. % J&ld

4. % SRl

Question Number : 158 Question Id : 59445943987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BaeH Bicdd: & 2
Options :

v B
et

3. % 3&Id




4#@

Question Number : 159 Question Id : 59445943988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oid [dpag Gf=<?
Options :

) % GRI

v S

4 % 9

Question Number : 159 Question Id : 59445943988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
®id [dpaa af<?

Options :

|

2. % GXI

s v

4 % d



Question Number : 160 Question Id : 59445943989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
daryy fRiem -
Options :

| v HIUH
5 % IR
3 % BRM

4 % TG

Question Number : 160 Question Id : 59445943989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dargy e SuHmd-
Options :

v IO
5w AR
3w O



4 % Ul

Discipline4
Group Number : 9
Group Id : 5944591025
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline4
Section Id : 5944591750
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592039
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 59445943990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TG RE &1 U8 THelgH?

Options :

% BT
», % T
3 v WG
4 % UG

Question Number : 161 Question Id : 59445943990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TICFRE &1 U8 THGH?
Options :

Question Number : 162 Question Id : 59445943991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i Bl Hiaaul :Haf<a?

Options :
|« 8¢

2. wo
3 W
4 % ¥¥

Question Number : 162 Question Id : 59445943991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I <Y HIaaul Ha=T?

Options :
1. 8
2. % ¥0
3 % W
4 % B8

Question Number : 163 Question Id : 59445943992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ooy quayy: &2



Options :

REERL!

1.«

). ® @ﬁ:
3. % SN

alHH

4, % .

Question Number : 163 Question Id : 59445943992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ooy quayy: &2

Options :

REERL!

1.
) x I
3 % UHRE

4 % S

Question Number : 164 Question Id : 59445943993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HIUSHIRIEN o] GeTrEGI?

Options :

| v Sudded

Question Number : 164 Question Id : 59445943993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIUSHIRIE BT GeTarEGl?

Options :

| v udded
2_%@@3&?

N CNUN LS

4 = PG

Question Number : 165 Question Id : 59445943994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

RGH B Ygoan- Hi-a?

Options :

1. ¥ EIEEI!E
2. = A0

3.8 UK

4. % B

Question Number : 165 Question Id : 59445943994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RGH BId YGoldn- Hi-?

Options :

1.9 EIEE”E
5 % A0
;% T

4. % S

Question Number : 166 Question Id : 59445943995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Options :
1. ® el

2. % G

Question Number : 166 Question Id : 59445943995 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

vdfed [qemreyr SaThRURg SR 3+ dldd-
Options :
1. ® $el

2. % GE

fFreaaH

d

3.

4,

Question Number : 167 Question Id : 59445943996 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



HIDHRESC RIUY fa=iTerad Rl fhaf?
Options :

% GRIEERIU
2. o RN

Question Number : 167 Question Id : 59445943996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIDHRES RIUY fa=iTerad gRivi fdbafd?
Options :

1, SRIEHRIHR
2, v PERIH

Question Number : 168 Question Id : 59445943997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SR fafayRRagw@ -] fawar: gd-i?

Options :

|« SEG
», » REAR
;. % IR
1 v G

Question Number : 168 Question Id : 59445943997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& RERTUT AR =] fauar: aa=i?
).« R
. s [TSRHTRERIO

1. SR

Question Number : 169 Question Id : 59445943998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HHGNaquRI HagHRd?

Options :

.

Question Number : 169 Question Id : 59445943998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIHGRTIdgRIV HagARd?

Options :

.



Question Number : 170 Question Id : 59445943999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JTHTHIAIT FA qclcl?

Options :

Question Number : 170 Question Id : 59445943999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JATLHAIT FA qelc?

Options :



4 % SEGAGRT

Question Number : 171 Question Id : 59445944000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dalgy Sl NHuHd-
Options :

e TR
» » O

3. % Iﬁ[
, o T

Question Number : 171 Question Id : 59445944000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

darey SIS
Options :

| x B
» » O

3. % I



4w adll

Question Number : 172 Question Id : 59445944001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEe=ITa0T: &l &:?
Options :

| % TABUBSTT:
3.¢ GELRS

4 % SAIGT

Question Number : 172 Question Id : 59445944001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el &di &:?

Options :
| % TICIBUBGAT:

) ® RIS




3. ¢ AR
4 % G :

Question Number : 173 Question Id : 59445944002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty fhey?

Options :

1. ¢ dac

Question Number : 173 Question Id : 59445944002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YHEAUHUT fhH?

Options :

1.«’331
. oA

.

2.



Question Number : 174 Question Id : 59445944003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR SHiafqur: faarer:?

Options :

5 % UG
3. v SABIGE
4 % (TG

Question Number : 174 Question Id : 59445944003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR SHiafqur: faarer:?

Options :

| TG



2. ® qﬁﬁﬁﬂ
3. v SHPTAHT
4. % ﬁﬁ}r%ﬂ:

Question Number : 175 Question Id : 59445944004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YYARIGIT: 3 Wicariad:?

Options :

| % HRS
y, v ST
3w TTOIRIGERIA

, w HEPHTD]

Question Number : 175 Question Id : 59445944004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YYARIGIT: 3= Widaied:?

Options :

| % YR



2, v ST
3. % ““”%

, w HEDHATDT]

Question Number : 176 Question Id : 59445944005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIAT 8 Hid?
Options :

| x 3
, % CXI
3.% glaR

4. % 93

Question Number : 176 Question Id : 59445944005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIAT 8 Hid?
Options :

% 9l



2. % &R
3.¢ gl

4 % U

Question Number : 177 Question Id : 59445944006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gRRpRied Fedd o e af=

Options :
1% ddI

2. % U

3.¢ gl

Question Number : 177 Question Id : 59445944006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gRiRRied Fead ofd s 9=

Options :
1. ® ddiX



Question Number : 178 Question Id : 59445944007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS fhH?

Options :

| ST

| MIEHHH
33-5 \

4w PAIETH

Question Number : 178 Question Id : 59445944007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS fhH?

Options :

| % W eTHETTH



, o HIAUHEH
y % DHUHFH

4 x PATYTH

Question Number : 179 Question Id : 59445944008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YSHIEAHRY Tl &7

Options :

1. v faaRoma
2. ® ST
3, % AR
4w SUEEd

Question Number : 179 Question Id : 59445944008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YSHIAABRY Tld: &2

Options :

l.gﬁqﬁvﬂqﬁ



) % oad
3 % SR
4. % 3qefiad

Question Number : 180 Question Id : 59445944009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRremar: Sfafaur srgT?
Options :

| % AGETE
Z.Q,Eléﬁﬂﬁ

5« adau
4. % AR

Question Number : 180 Question Id : 59445944009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRregrar: idfgeyra argT?

Options :



| = faur=
CEEEIIE]

2.¢

, % g
4w BT

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Discipline5
10
5944591026
0
0
No
No
0
20
No

Discipline5
5944591751
1
Online
Mandatory
20
20
20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 5944592040
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 59445944010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HFIATERIGTH! 98 B:?

Options :

| % B
3 % GG
4 % YIS

Question Number : 181 Question Id : 59445944010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HFIATERIGTH! 98 &:?

Options :

1. ® WZ
) v IF%E



Question Number : 182 Question Id : 59445944011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIGFaRRAN S g1 KT

Options :

| v HRHIEEY
, » AU ETerd
3.331?1*@3?43?&

4« SHER

Question Number : 182 Question Id : 59445944011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIGaRRMAN S g1 1T

Options :

| v UREE



s x 9UESE

s u STEH

Question Number : 183 Question Id : 59445944012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HRGIPRUM, B HIck:?
Options :

1. ¥ 20¢ a3

NG LuCE A
s % TORIGETY
4 % DAY

Question Number : 183 Question Id : 59445944012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HRAA PRI B Hid:?
Options :

1. ¥ ¢ G



Question Number : 184 Question Id : 59445944013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG- U= g TG 3HKT?
Options :

1. ¢ i“

, » HOHRH
; v WBHETH
4 % U2 éa?ﬂm

Question Number : 184 Question Id : 59445944013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG- U= g TG 3HKT?
Options :

% RAHGH




, « HEYRH
; v WEHET
4 % UREGRE

Question Number : 185 Question Id : 59445944014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ged.fa=amior: & yufid:?

Options :

|, v TTOIRIGERF

4 % HU

Question Number : 185 Question Id : 59445944014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ged.fa=amior: & yfid:?

Options :

| v TTURIGERH



4 % XA

Question Number : 186 Question Id : 59445944015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VYOG T TIHIHR: 3 ?

Options :

| HEITd
) % e
3. x ORIGHMHTER:

4 v RAFGUGS:

Question Number : 186 Question Id : 59445944015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VYOG T TIHIHR: 3 ?

Options :

| % HERTT:



o e’ﬂﬁﬂ'fa
3. % ARIGHIGR:

4 v URHFGUIES:

Question Number : 187 Question Id : 59445944016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIUT i TEUMH?
Options :
1. ¢ TG :

aSN-LE|

2. %

STPTGRACTEUTH

.

4, %

Question Number : 187 Question Id : 59445944016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORIUf i TEUMH?
Options :
| o T



.« TS

4. % BRI

Question Number : 188 Question Id : 59445944017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STHIANT Sedl YA I T T Hafd?
Options :

4 v IR

Question Number : 188 Question Id : 59445944017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUHGAT Hedl YU TFTd] TedTad 91 Hafd?

Options :



4.9 REE(T:

Question Number : 189 Question Id : 59445944018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[ QIO AT FRIa% i SadRT: ftfdr?

Options :

], % gj}‘”
2. v Sl aIfa:
3 % GRI

4 % @laR

Question Number : 189 Question Id : 59445944018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fergQRIvIHTaa: fRiaey Hid SadrT: aftfar?



Options :

1. ® gf!l
2. v Sl¥ JRIf:
3 % ol

4. % GlGR

Question Number : 190 Question Id : 59445944019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Red GO dich faeT o YgaiHT | Hided guH T ideas GgaHT || 3fd Ifaid BRI gdd 2

Options :

Question Number : 190 Question Id : 59445944019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Red Y Wb (91 o YA HT| Hided goH T Uidaead o H | | 3id IRIRG HRHG0 gdd 2

Options :

Question Number : 191 Question Id : 59445944020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oG HIERAE $F Idd?

Options :

Question Number : 191 Question Id : 59445944020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TG HIEREE P dad?

Options :

Question Number : 192 Question Id : 59445944021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT SAABR T Wiy sy GasgiaaHard ?

Options :

| fa=ISTE

2.@”% .



Question Number : 192 Question Id : 59445944021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT DR har: wiavesit wasgfdayard 2

Options :

|« foRE

2.%/% .

, » SUATH

Y

4.

Question Number : 193 Question Id : 59445944022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRIRGUS: -G UTH?
Options :

| TR

2. % EH'QE”

\ % STATUSTRIO



Question Number : 193 Question Id : 59445944022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRIRGUS: & RFGRI0 UTH?

Options :

| v TR
>, » TR
;. % TEIUST
. % TSR

Question Number : 194 Question Id : 59445944023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

hid GRION Fi=i?
Options :

1% gla}

) % WISH

3.¢ e



4. ® ﬁ?ﬂlﬁ:

Question Number : 194 Question Id : 59445944023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

hid GRIUN Fi=i?

Options :

1. alaR
2. % Ei@m
3.¢ R

4. ® ﬁ?ﬂlﬁ:

Question Number : 195 Question Id : 59445944024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRIeTe S SiRE-a-<y MHagH?

Options :

1. ¢ é"

) SR

~

y x TRGIBIIAT



. RrERTEm

-5

4.

Question Number : 195 Question Id : 59445944024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR B HiFa<g FHagH?
Options :

1. ¢ i

HEIUH

2. % :

, x TGIHTAH

frafeugmy

4. % ¥

Question Number : 196 Question Id : 59445944025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTeTE g T 3R ?
Options :

1 % LA

5 o GHIGY




, x HHAYUSTH

4. % 1dCdM:

Question Number : 196 Question Id : 59445944025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiRTeTe™] e Ta-T 3k ?

Options :

| % NEEAEER

5 GHNIGY

;% PHAYUSTH

4, % T19CIdHMA.

Question Number : 197 Question Id : 59445944026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRIce b qudfdyy: &:?

Options :

| HRTEL:FRTH

, » HRAE AfGHT



;. 6 I

4. % YHIS:

Question Number : 197 Question Id : 59445944026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRIce b qudfdyy: &:?

Options :

| HREL AR
, « HROH HiGH
3. % Uit

4. ® HHI

Question Number : 198 Question Id : 59445944027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ISTGTT Sicl HETh T THG R 1 3RK?
Options :
| v AR

5, TG




4w AGRICE:

Question Number : 198 Question Id : 59445944027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WS IoiaTH S HEThTo YYHI T {f&T?
Options :
| v HAdR:

Question Number : 199 Question Id : 59445944028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘HIGPRMAIRIT 3id TRAGATRA -

Options :

| % SAROROSGY:
5 % YTdeEHEATTE]



3 o U UEdI&HRd
4 % UEAdRE!

Question Number : 199 Question Id : 59445944028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘AP RHAIRTT 3fd TR0 -

Options :

| w SHIRTORIGNSHS:
5 % JUTGCAHETTE!
3, v HIUSTIEHRTE

4 % VHQICITRIH]

Question Number : 200 Question Id : 59445944029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIGRIAIGEH HETHII™ YUIdl &:?

Options :

| v HERHTSHIGUIHR:

, % O J19aT



3 % TAIaRE

[ [w

, % YATTEIEigad]

Question Number : 200 Question Id : 59445944029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TRIGRTSGIGTH HETHI0™ UUIdl &:?

Options :

| v FERHTSHIGUIGHR:

L« Ol IEa

3 % TAIaRME

[ [w

, % YATTEIEigad]

Discipline6
Group Number : 11
Group Id : 5944591027
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline6

Section Id : 5944591752

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592041

Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 59445944030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIAERTT HE HIoRRT?

Options :

| v YaETEfgae:
. % OGN

3. % PHRGIRIE

4 % USRI



Question Number : 201 Question Id : 59445944030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIAERTT I PloRR?
Options :

| v YayEEigaie:

) ® SEEEErs!
; % PHRGNY
4. % TUSCRISTONTATYRY

Question Number : 202 Question Id : 59445944031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR odq HelalH PICE: Fi=?
Options :

| % &°

L % &

3 % &Y

4. v &



Question Number : 202 Question Id : 59445944031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIRTY adH Hgldhld GARESEHIRRSIEK

Options :
| % GO

L % &
3% &8

4. v 8¢

Question Number : 203 Question Id : 59445944032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST/ YR 3id BT TTTHR: 622
Options :

| % ARSI IES:

, o THIBI:
3 % JYTICTHETTE]
4. % QTOXH 353



Question Number : 203 Question Id : 59445944032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“yifd T YRAT S ST TWATHR: 622
Options :

| % HEASEHUES:

) LHl R[] att:
3 % YaeaHEATE]
4 % TR waq

Question Number : 204 Question Id : 59445944033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AIAAIFHIH Y IAT?
Options :



Question Number : 204 Question Id : 59445944033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTA=UTHHIH H XI1?
Options :

4. v ARGl

Question Number : 205 Question Id : 59445944034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIGRTSqoEH, faHaART?

Options :

| % SER
) W

s % R
4 (TN



Question Number : 205 Question Id : 59445944034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIeRTSTdEH faHaTART?

Options :

Question Number : 206 Question Id : 59445944035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG Sid By Yulaisixr?
Options :
1. # ENE

5 v HHAYUSY
3 % YaeaHEATE]
R RUR



Question Number : 206 Question Id : 59445944035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ETTFT Sid BT Yulaisir?
Options :
1. ® T9elc

, v HHAMYUSY
3. % ﬂmaﬂ.‘!“ﬁq _D’£
4, % TR

Question Number : 207 Question Id : 59445944036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y g [AFHT re=dRa?
Options :

| x fao™

, v Oy

3 % AT

4« TREE



Question Number : 207 Question Id : 59445944036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y H f[aFHTsg Ie=aRd?

Options :

1.33%@
5 v TERY
3. & TG

4 = TREH

Question Number : 208 Question Id : 59445944037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HINTRIRATTHR HTSTT: 2199 Hafd?
Options :

1w dad

2. % E'i y

3 % [GHTET

4. % W



Question Number : 208 Question Id : 59445944037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HINTRIRGTTHR IS 313 Hafd?
Options :
1« dddl

5 % Yl
3 % [OHTET

4. #® _‘H%

Question Number : 209 Question Id : 59445944038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy Ui &2

Options :
4

1. =



Question Number : 209 Question Id : 59445944038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy Ui &:?

Options :

Question Number : 210 Question Id : 59445944039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R 2AET?
Options :

Lv &
2. % B
3 % I

4. % Sl

Question Number : 210 Question Id : 59445944039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

S T2
Options :

Lv ?
2. % B

g, % S

Question Number : 211 Question Id : 59445944040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YL AHNE GHRYY G- &2
Options :

1. ® -

2. ® @Q‘il
5, YRR

4.« HOH:

Question Number : 211 Question Id : 59445944040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
YUY GHRYY G- : &2
Options :

1 % S

. ® @QT:
5, HTTED:

4. & JoBH:

Question Number : 212 Question Id : 59445944041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AT R ATYRT: T?

Options :

| G

5 v RF-UId-HI0MH

3 % GHAYY HETH:

4w SERIIERIAR:

Question Number : 212 Question Id : 59445944041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IR AT URYg ATHRT: TT?

Options :

e PTG
5 v YF-UAd-H0MH

s % GHAYY HET:

4w GGG

Question Number : 213 Question Id : 59445944042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gAY MO-aR BT AT
Options :

| AR

5 % S
3. o E]di!ﬂ;
4 % HTATART

Question Number : 213 Question Id : 59445944042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FRATTEY IRBRU] AR -
Options :

| SHTRIET
o % GCIHId:
3 v TafgI:
4. % YIaTaT:

Question Number : 214 Question Id : 59445944043 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A URaT STRIb R -
Options :

| % DIAYHIT:

2 E ~ ~

s % HEIHYE:
4 P

Question Number : 214 Question Id : 59445944043 Question Type
Orientation : Vertical

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Correct Marks : 1 Wrong Marks : 0.25
SURGATE STRISRUT IR~
Options :

1 % PICHHIG:

IEUH

23-5 S

s % HETeRYYIG:
4 v PHAC

Question Number : 215 Question Id : 59445944044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TYAAUORGd SieaFHgH gafear?
Options :

1. ¢ tll [ljl

2. % @ iz 1! ’

3. % HIGHI ii Eli

4 % ArAEgH

Question Number : 215 Question Id : 59445944044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
THGUIRE HiE=afHgH JHIigaH?
Options :

| v mgH

Question Number : 216 Question Id : 59445944045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTHFEMATH: haTaEg: A2

Options :

Question Number : 216 Question Id : 59445944045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AHAEMATH: daTag: A2

Options :

Question Number : 217 Question Id : 59445944046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T RMTHER HHRY URaldd S0 HRK?
Options :

vl

Question Number : 217 Question Id : 59445944046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FRFTAMYR HHRY gRafdd & HE?
Options :

v !

Question Number : 218 Question Id : 59445944047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YD AHINIT: R $id US AfTHNTT g Hafd 3 & JaH?

Options :

|« UTGHFHEIGE™
, » [HAGIGTH

, v TRACIGHY

4 % UHETHEIETE

Question Number : 218 Question Id : 59445944047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
RSB THIIT: R 3id IS ACTHINTGT ‘g Hald 3id &g JaH?

Options :

|« UGHMHEIETH
, « [UHHEIGTY

s v TRHRIGH

4 % UTHEAHECT™

Question Number : 219 Question Id : 59445944048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT i e HXY IJQTGRUMRKI?
Options :

| % TG RRY

2. ¥ E!ii EHEI X

3. % A a %

4 % AUTHYRT

Question Number : 219 Question Id : 59445944048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T Sid Usa: H IGeUHERT?

Options :

| x RiBE
» v SUGERE
3 % OTUICRRY
4 % SRIIHYR

Question Number : 220 Question Id : 59445944049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TaiftE: g aTe 5 IeEvEE?

Options :

Question Number : 220 Question Id : 59445944049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TaiftE: g aTe 5 IeEvEE?

Options :

Discipline?

Group Number : 12

Group Id : 5944591028

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline?7

Section Id : 5944591753

Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592042
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 59445944050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugdsl & Hald?

Options :

4 % OlGaudad

Question Number : 221 Question Id : 59445944050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugds &g Hald?

Options :



) v 39 ag=
3 % DI

4 % OGaUaaH

Question Number : 222 Question Id : 59445944051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UREdRY HRUT AR ?

Options :

| x CIEOIHTART:
, « WreTdq

y

3 % SIERY

.

4. v SRR

Question Number : 222 Question Id : 59445944051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2R ad g HRUT AIRT?

Options :

|« CTEfOrBYgnT:



4. v IR

Question Number : 223 Question Id : 59445944052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SANTTHS G T 34?2

Options :

| % ST
) ® ARIRTHTST
s % SXPAHT

4 THETHTET

Question Number : 223 Question Id : 59445944052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SANTTHS G YT 31f&T?

Options :

| % ST



) % ARARTHTN
3.33'\’3@%

4 TFTHTST

Question Number : 224 Question Id : 59445944053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIP [ AHAB T RSl AT HINT 61?

Options :

Question Number : 224 Question Id : 59445944053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIPHAB IR UTE Sl G THEHINT 61?

Options :



4 % HBRYYT

Question Number : 225 Question Id : 59445944054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YL AN HIETHINRIUS f=<qHafd?

Options :

v TR
> HARBRATS
3 % SBIHRATS
4 » IRIHENITRIGEUS

Question Number : 225 Question Id : 59445944054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D AHTY HIFTHINRIUS <qHald?



Options :

v TIRERUS
) HARDRATS
3. % SBIHRAUS
4 » IRITHENITRIGEUS

Question Number : 226 Question Id : 59445944055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRATRGERTBRUMTIR HHHTHINT HEHEIRAR FHIfgar?
5 % HI-SHHNORAR
s % SORRBIHTTIRGR

4 v HRIGGYNGRAEN

Question Number : 226 Question Id : 59445944055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IRETREGAIHRUTTIR HHHIHINT HRETHTEIRER SH1fgdr?

Options :

| % SIaSHNIRAR
5 % HI-SHIHNORAGR

s % SORRDBIHTITIRAR
4 v HRIUGHEGRER

Question Number : 227 Question Id : 59445944056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRy ST UYHT SHad] & UIEdl?

Options :

Question Number : 227 Question Id : 59445944056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

STITRTY: IG UYHT THAd o UIil?

Options :

Question Number : 228 Question Id : 59445944057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

] TANTYRIE: & G dT?

Options :

1. ¢ gRyT
5 % ARG
. THIE:
4 % IIYEE

Question Number : 228 Question Id : 59445944057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YA WIRTHRI: & 3G 1adT?

Options :

| v ERETL
) % GIE:
;. TIIE:
4. % TE

Question Number : 229 Question Id : 59445944058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gerFasie FEid &2
Options :




Question Number : 229 Question Id : 59445944058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gerHase FHid &2
Options :

4 UKL

Question Number : 230 Question Id : 59445944059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRAT- AN U -TTHT HIST BT SAT?
Options :

1 % U YT

2. % 3

3.¢ 3

. Tl UpaHTT

4.



Question Number : 230 Question Id : 59445944059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URA- AU Y W HTHT HIST BT SARET?
L T

5 x ATPAH

, v ARSI

x QDD IHT

4.

Question Number : 231 Question Id : 59445944060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gdfH: gid U St HINTal ugsgd?
Options :

| % iU

2. % 3 |

s x ClihHEGTHNRT

4 v JICHUTHAHSRT



Question Number : 231 Question Id : 59445944060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dfH; 3id Ug H&i N Tggd?
Options :

1 % OTieTHTST|

) s VIBAHTITT

s % Gl URDTHNRT

4 o OGP ERGAT!

Question Number : 232 Question Id : 59445944061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

| v U

, % dHCIHUL

3. % W(Tﬂl



4% P

Question Number : 232 Question Id : 59445944061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Sl HR-
Options :
1« YIHHI:

, % JHcTHU
3 ® Wﬁ[i
4. % P

Question Number : 233 Question Id : 59445944062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRGAMHTHY &: SalHiaH:?
Options :

GENELg

1.

5 % ITGAMMTH:

3 % [DEEIGRIEN



4 % AU CIHT:

Question Number : 233 Question Id : 59445944062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRGERFTHY &: Jafkae:?

Options :

1. ¢

Question Number : 234 Question Id : 59445944063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B HIAT YT 3id AT SHojared Tr-

Options :
| % @ BIe: Hid(d|

5 & & Pl HaAld |

s % P PI AT



4 % O BI: Hald |

Question Number : 234 Question Id : 59445944063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘1 DICI YA i<l I Bejared Yan-

Options :

| % @ BIe: HiqH(d|
5 & I HaAld |
y % @ IT: HAd

4 % o B Yafd|

Question Number : 235 Question Id : 59445944064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIRIE 9 7 19’ Sid I Spdriare: K-
Options :

| TRIAT: : 7 T

5 % GRA: T: 7 HFIHH|



\ w TRA: T T TS

4, % HHAA: ;7 ST |

Question Number : 235 Question Id : 59445944064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QG 98 7 14" 3id I Spdrare: -
Options :

| TRAT: . T AT

> % GRAT: T: 7T AN
, x GRIAC: U 7 AT

4 TRET: T T TS |

Question Number : 236 Question Id : 59445944065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fdd: 9= TSI 3id AT SHHar fdre: Hafd—
Options :

| % GIAd: YT UG |

5 v SIAPHT T G&0d |



s SIS U UBMd|

4 % SI0®: T US|

Question Number : 236 Question Id : 59445944065 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fdd: 9= TSI 3id AT SHHar fdre: Hafd—
Options :

| % SI0D: T U |

5 v SIAPHT T G&0d |

s % SIdd 9 UBfd|

4 % SIA%: G US|

Question Number : 237 Question Id : 59445944066 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘IS 3id fhauesy dai -
Options :
odH

1. =

2.<-«*’g a

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Question Number : 237 Question Id : 59445944066 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘UST gid fehaewd sl HiRe-

Options :
d \

1. =

v T

3. ~
4, % .

Question Number : 238 Question Id : 59445944067 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 5 fhamdesg &dl 31—

Options :

1. ¥ *

2. # ~

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4 % L4

Question Number : 238 Question Id : 59445944067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T gid ferarues Sl Sffed—
Options :

| OfeH

a,

4 % Y

Question Number : 239 Question Id : 59445944068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ST Hid Her: ufqurfedn?
Options :

% R

% ¥



3.9 3

LY

Question Number : 239 Question Id : 59445944068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AERHHC S $iq Hal: ufaariedn?

Options :

1% R

2. % ¥

Question Number : 240 Question Id : 59445944069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITHBIEAY HURAH fhafsd?
Options :

[EECIE2E

1%-5 -

L x UIaEH



HEH®[HH

tqfhTH

4.

Question Number : 240 Question Id : 59445944069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ITHBIEAY HURAH fhafsd?

Options :
1. e -
2. % g EE ¥
3 e 1:[ ‘-.
4. & $

Discipline8
Group Number : 13
Group Id : 5944591029
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Discipline8
Section Id : 5944591754
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592043
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 59445944070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& (gm0 He Halwse gid arey agdaH?

Options :

L v e

o % HpURY

; x ORI

4« DA™



Question Number : 241 Question Id : 59445944070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&Y (gmea 0] He Halwse gid ard] agad?

Options :

| v AU

) # HDIURY

, « ORI

, x DAY

Question Number : 242 Question Id : 59445944071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHcHd DIl o 22

Options :

1. ® Dﬁiﬂ?ﬂ:
2‘\,/?-5@%&

3 % UG

4. ® o

Question Number : 242 Question Id : 59445944071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AHcHd BIDk: 3 322

Options :

1. ® Dﬁmﬂ:
Zg,ﬁﬁﬁ%ﬂ?

s % UG

4. % g

Question Number : 243 Question Id : 59445944072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qECHd ATy ER: Hidfe:?
Options :

1. ® @%‘H:

2. ﬁﬁfﬂ:

3 % agé&

4 v TSI

Question Number : 243 Question Id : 59445944072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TEreHd ATy ER: Hiafhe:?
Options :

] ® ffae:
2. ﬁﬁﬂ
5w SGEY,
4. q@ﬁﬂ

Question Number : 244 Question Id : 59445944073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GI&TcwH v %7 fufc:?

Options :

xR
2 % O
v ™
4% TR



Question Number : 244 Question Id : 59445944073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TI&TwH SV 37 fufa:?

Options :

| w W6
2 % O
v W
4% AR

Question Number : 245 Question Id : 59445944074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIAUBIR R GIAPRUM 2Mglabd HE?

Options :

1 TR
% oy

2.
3. % ENIEE

4. % HHAMET:



Question Number : 245 Question Id : 59445944074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIAUDTR HFR TR ATGIaDE HE?

Options :

3. % HNTGR

4. ® THAMET

Question Number : 246 Question Id : 59445944075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G T YA 37 BRI
Options :

H \

1. #
2. ¢ a:
s w SaEIfET

4, % CTCIFHN.



Question Number : 246 Question Id : 59445944075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G TR YA 37 SNBHRISKI-
Options :

b

1. #

2.¢ oA
s« SffaeEifdd
4, % CICTHIN:

Question Number : 247 Question Id : 59445944076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BHIOITATE: g HX Ja:?
Options :

1. v S ijé IR

, x HHEH
s x QYU

4w HHCHY



Question Number : 247 Question Id : 59445944076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘BHIAHTE Sid B JiKT:?

Options :
| v S<ad e

, « HHEH™
s w [OYTTURY

4 % HHCHY

Question Number : 248 Question Id : 59445944077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GRIY: DY id TG @f-aricT: Y Iwid FHaa-:?

Options :




Question Number : 248 Question Id : 59445944077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRIY: DY id TG @f-aricT: Y Iwid FHaa-:?

Options :

Question Number : 249 Question Id : 59445944078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT YeTigRUT aTeTy: Syciiad | areardyfddT ded Wiaud a3 || 3id &/ 9y SiqaRaq?

Options :
1 % PIAYDRIRY



Question Number : 249 Question Id : 59445944078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT YardgRUr aTry: Syiiad | areardyfdet ded Wiausd 9&d: || 3id ) 94 SidaRad?

Options :
1 % PIAYDRY

2'33331_%?13&0@

4 v FIEH

Question Number : 250 Question Id : 59445944079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SFClh el HIauT?
Options :

| v B

o T

3 % GRIY]

4 % YUY



Question Number : 250 Question Id : 59445944079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST e DHITHT?

Options :
1« e

5w TG

4 % O

Question Number : 251 Question Id : 59445944080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TqHIT AGUAHETE g 3id Hia:?
Options :

| w (GYTIYE

) w HHCH
3, % GIUS:

4 v HHAGAETH

Question Number : 251 Question Id : 59445944080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faHIfa Tauaffarg1g gfd Heifa:?

Options :

| [OYTIYE
, w HHCH
3, % QIUST.

4 v AFGIETR

Question Number : 252 Question Id : 59445944081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘YYTATTHSIT T P &2
Options :

1,: ared fafeey af: ufoyeRsy:
e e e Rafre:
L w e fafeRey saf: erpvaew:

4 x O IR SfgHEEy:



Question Number : 252 Question Id : 59445944081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YYEAHSIT 599 b: @ai?

Options :

| % ] f[9fR=Y @i UioveE=y;
, » 9 FNYEY wf: ffre:
, T AT el erfyaeT:

4w O R SfFHEEy: s

Question Number : 253 Question Id : 59445944082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG ey Hidur?

Options :

| ® e

7« GRIYT

3 % JFHl

4 TG0



Question Number : 253 Question Id : 59445944082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G AT Didur?

Options :

| w B

7 o GRIH]

3. 0% PR LI

4 TGE

Question Number : 254 Question Id : 59445944083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG aqHERT: &:?
Options :

1. % Eﬁgl

2. % SUHRIC:

3. ¢ I dlu;

4. ® yad:

Question Number : 254 Question Id : 59445944083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

THAGOOHERT: &7

Options :

1. ® Eﬁ@[z
) » SUHEL:
3.« BT gI:

4. % Udd:

Question Number : 255 Question Id : 59445944084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SYTETHT: IUT Y?

Options :

v TP



Question Number : 255 Question Id : 59445944084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H[GETFT: IUTR HY?

Options :

v T

Question Number : 256 Question Id : 59445944085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG TSHIUN HYHT HeRie: 3id Aled &: Hd?
) v [ASHRE:
3 % HUTGETD:;

4 % SIPHAAR:



Question Number : 256 Question Id : 59445944085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FeaTHIUN HYHT FHeRie: 3id Aed &: Hd?

Options :

1. ® WZ
5 o [dShR{E:
s % IOEU:

4 % HBEAR:

Question Number : 257 Question Id : 59445944086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TBaICDHY [agud: e U] Hrae:?

Options :

| v STRIUTEHIOT




Question Number : 257 Question Id : 59445944086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OB aHICY [agyd: g iU Hiee:?

Options :

| v SITRIUGT

Question Number : 258 Question Id : 59445944087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YU fGoriae &2
Options :

1. #® Raer:

2. ¢ IRRI:

3, % JINC:

4. ® ‘r‘-ﬁ@@ﬂ:



Question Number : 258 Question Id : 59445944087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YHIR U fgolliad :?

Options :

1. ® e
2.¢ YRR
3. % JINC:

4. % ?ﬂﬁ?ﬁ:

Question Number : 259 Question Id : 59445944088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ROURIGIIY RO Dh: &:?
Options :

| v TR

2. % E :

, » HETIwe:



4« HAFGIYT:

Question Number : 259 Question Id : 59445944088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ROURIGIIY RO dh: &:?
Options :

| o HRTEH:
, % HETaS:
;. « HEdlwe

4« HAFTGIYT:

Question Number : 260 Question Id : 59445944089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FehlfeToll A e Jg-T ARKT?
Options :
| % A

2. % PRCY

3 ¢ FAPT



4 % HIFEH

Question Number : 260 Question Id : 59445944089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FehllaIolaas B g1 ARKT?
Options :
| % A

2. % PGy

3 ¢ FdPd

4 % HHeH
Discipline9
Group Number : 14
Group Id : 5944591030
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline9

Section Id : 5944591755
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592044
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 59445944090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRATS T Y g2

Options :

1% WA
2. v dHTHY
3. % THEY

4w SR

Question Number : 261 Question Id : 59445944090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIfRTHAG AT o gl=<:?



Options :
| % HRA™

o dHTH
3. % THEY

4, w SR

Question Number : 262 Question Id : 59445944091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT B T e K2
Options :

l.waﬂaﬁw
5 v FAEHEY

s % PIAYDRIR

. CACICANGRSS

Question Number : 262 Question Id : 59445944091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B
THTH - T <l AKT?




Options :

1_%W
5 v FAAHY

3 % PAUBRIRIY

4 % PIADIGH

Question Number : 263 Question Id : 59445944092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT TG Y TEH?

Options :
| % Pl

2. ¢ TICHT
3. % GIPIFR

4 % UHRY

Question Number : 263 Question Id : 59445944092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘AT RIHITH HE TauH?

Options :



Question Number : 264 Question Id : 59445944093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘BIGFER] S TGHT?
Options :

| SIUHE™

Question Number : 264 Question Id : 59445944093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘DIGFR] S IGHT?
Options :




3« AEHE
4 % DG

Question Number : 265 Question Id : 59445944094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T[T Hiavgl af<a?

Options :
% 9

53

2. %
3. v ddiX;

4 % GXI

Question Number : 265 Question Id : 59445944094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS0 HiaHgT Tfa?

Options :



<
24 A &

Question Number : 266 Question Id : 59445944095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HATGe P UT T TAIDR: B:?
Options :

1. ® HI:

. ® ﬁmﬂﬁﬂ?{:
3.v GUS
4 % MO

Question Number : 266 Question Id : 59445944095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR UT T TAIDR: B:?
Options :




4 = VL

Question Number : 267 Question Id : 59445944096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y LATOHIORIAY B SaHfa:?
Options :
1. # N

, x HIAY
3 v BN

4. % oHY-l:

Question Number : 267 Question Id : 59445944096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEH AT ORI S ST
Options :




Question Number : 268 Question Id : 59445944097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VIR THEIBIO D! & AT 21?

Options :

1_¢1ﬂﬂ1¥1

o % A
3. % AeRE
4. % 3

Question Number : 268 Question Id : 59445944097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VIR THEBIY TS & GAT 24%T?

Options :



3,‘53#‘%
4. % 3:

Question Number : 269 Question Id : 59445944098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“3RTR Uy dESTHUN YUl & deadwsiaadisy Umd” i &8 died aioide?
Options :
% A

2 o T
3 ® aHY-T:

4. % ¥RY

Question Number : 269 Question Id : 59445944098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“ 37T YRl da g THUT gull & desdesigaalsy Ui s $8 4iad afvlae?

Options :




4. % TN

Question Number : 270 Question Id : 59445944099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“SHHUT 9 Podl H YN TG 59 HLHNG, HLA 30 TqUeia-, TqUed 59 SYH, $YH 39 TYHI], HYDHR 59
e, T9GIa-HUaH” 3 S qui=H 4T ?
Options :

| % [dCrEddr:
2. FGTATT.
3 % CRICIRIAT:

4 % UEACAMT:

Question Number : 270 Question Id : 59445944099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



“ehlU1 9 il H YN a9 59 HYHNA, HYAN 39 799edH, Taued 39 $YH, $IH 59 HYDHU], HYIR 39
TCH, FagIaIe” 33 Bl Uiy T 2
Options :

| = fOdgadr:
5 ST
3 % ORICThIAT:
4 % AT

Question Number : 271 Question Id : 59445944100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEarT: s &2

Options :

4 v T

Question Number : 271 Question Id : 59445944100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Herdmn: foge: &2

Options :

4.9 ERSHED

Question Number : 272 Question Id : 59445944101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGITHYRAG GHYaRAldgaaRIGR: |
Wﬁﬁﬂﬂﬂﬁﬁﬁﬂﬁﬂlﬂ?ﬁﬁgﬁwumyaﬁav

Options :

), % BYARd



Question Number : 272 Question Id : 59445944101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“TGTHYHET Rl dg g Sy |
TRIAGYIARR gaiaHadl R | | Siaeie: $F gaad?

Options :

|« TG
, » BYARd

Question Number : 273 Question Id : 59445944102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG dIFAUHIURT: &:?

Options :

1. % HI:

) ® qus|
;. v HO:



4. % IR

Question Number : 273 Question Id : 59445944102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG dIFUHIURL &6:?

Options :

1. ® HI:

, % GUSI
3. HaH:
4. % IR

Question Number : 274 Question Id : 59445944103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B Ug: 74 fHH?

Options :

| v YIS

) w SHEIdeh:

3 % dIIE:



4. % Wﬁ

Question Number : 274 Question Id : 59445944103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FOYFH Ug: 7 fHH?

Options :

| v [aYUseE:

» w SPIdeD:
3. % dIIE:
4, % TG

Question Number : 275 Question Id : 59445944104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“ISTaig BRI HG M HYAGN" Fid HlaTH?
Options :

1. # ii S L

) ® HIYH

3.</5Haﬂ



4 % CTCHITRAT

Question Number : 275 Question Id : 59445944104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“ISITGIY BRI G- HYATGU” Sfd BIgH?

Options :

% GIUSI
2 % IR

3. v WL
A il

Question Number : 276 Question Id : 59445944105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEreSUREMe: Tg | AT Harad HaHf: uREmEah HH?
Options :
EEEIEE

], % -

) % TRIEH

-



SIRAEEE|

4. =

Question Number : 276 Question Id : 59445944105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“feseaISuREMeH: Ty | AW Fare Hayfd: uReEmafd $H?
Options :

SNRIEE !

1. ®

Question Number : 277 Question Id : 59445944106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITRFIRT Tl 7 f6H?

Options :

|« PHRIAEHE:

5 v DIAGHBG:



3 ® qﬂaﬂmi
4 % TERIGR:

Question Number : 277 Question Id : 59445944106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JARTERT Tguie A 6?2

Options :

|« PHRIAHE:
5 v DIREGHBIN:

3 ® q@aﬁmi
4 % TOARRI:

Question Number : 278 Question Id : 59445944107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ry oY A qUiafy e o sufa

Options :

|« dievyg
2_@,1%?5%@?6[




4, % SDIUGRA

Question Number : 278 Question Id : 59445944107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Ay A guild afes” . gagfd:?

Options :

| x dleu
2__‘,1%%?5%@?61

3 % SGURY

4 % DG

Question Number : 279 Question Id : 59445944108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“1R T R T Aa1 UH9AERT 59 &: afifd:?

Options :

1.+ Gflﬂffﬁ:
o ® ﬁ'E[Eﬂ




3 6 W
4. % ﬁ_c{'l-fz

Question Number : 279 Question Id : 59445944108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1R T FRT T AaT UHGAIRT 5 &: afuld:?

Options :

1 v S
5 % YT
.

4 % fagH:

Question Number : 280 Question Id : 59445944109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qraeT eIl drgUdbdl: fUgHH fbH?

Options :

| x SHCE

2. % Il



3% R
4.9 fer=qrefor:

Question Number : 280 Question Id : 59445944109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qRIde e el daUdbdl: fUgHH fbH?

Options :
1. = g :
o # Jad-:
;xR
4.9 =TT
Teaching Methodology
Group Number : 15
Group Id : 5944591031
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Teaching Methodology

Section Id : 5944591756

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592045

Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 59445944110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of interpretation method are there in Sanskrit teaching?
Options :

1. # four

2. % Five

3. % Six

4. % seven

Question Number : 281 Question Id : 59445944110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fRI8M01 %1 SARSAT U fd & fara- UHR Bid &7

Options :




1. ® IR
2. % U9
3. ¥ 9¢g
4. % grq

Question Number : 282 Question Id : 59445944111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Educational tour program to historical tourist places, industrial factories, galleries for students is the part of which teaching principle?
Options :

1. # The Activity Principle

2. % The Selection Principle

3. ¥ The Motivation Principle

4. % The Planning Principle

Question Number : 282 Question Id : 59445944111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & fore Wfagiis wie R, shelfiie Famer, Rer=marsit o1 Qe wHor SrisH fa Riemr Rigid o1 i1 g
Options :

1. % foram=itadr o Rigid &1

2. % 9o RIgid &

3. ¢ TRUT Rigid &1

4. % T35 Rygid o1

Question Number : 283 Question Id : 59445944112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not counted among the teaching sources?
Options :

1. % from known to unknown



2. # from simple to complex
3. % from analysis to synthesis
4. % from subtle to vast

Question Number : 283 Question Id : 59445944112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STH Q o TRieror T & et 1 oirett &2
Options :

1. % 1A ¥ SR DT 3R

2. % TR Y Wi DI 3R

3. % IRV Y HRAWUT i 3R

4.« e 9 fa=ITerd &1 3R

Question Number : 284 Question Id : 59445944113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a method used in translation teaching?
Options :

1. ¥ pronunciation method

2. ® book method

3. #® interpreter method

4. ® Comparison and Imitation Method

Question Number : 284 Question Id : 59445944113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

99 9 P |t 3are fReror § yged fafy et 82
Options :

1. ¢ IR fafd

2. % Q&I fafy



3. % gy fafyr
4. % A1 TG 3FbR0T fafey

Question Number : 285 Question Id : 59445944114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the modern concept, which of the following has been included within the wider scope of Teaching curriculum?
Options :

1. # Text Books and Curriculum.

2. ¥ Books, libraries and courses.

3. % Classroom, school, book, library, laboratory and workshop.

4. ¥ Classroom, school, book, library, laboratory, workshop and playground.

Question Number : 285 Question Id : 59445944114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY UROT & AR 78 U fHd Rrefur ureassy ! arues Uiy & siavid i forar war g2
Options :

1. % UTS Q&dich| Ud UTUshH |

2. % QI TKIPhIad Ud UTSdshd ol |

3. % e, ey, Taw, JRImTerd, TaNTRIdT U9 Sri=Idl &

4.« HefT, TaTTed, qXde, QRadbIad, NI, HTIRIE Ud ¥d & HeH &l |

Question Number : 286 Question Id : 59445944115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a person sheds worn-out garments and wears new ones, likewise, at the time of death, the soul casts off its worn-out body and enters a new
one.
Which one is subject part in this shloka?

Options :
1. * humans
2. % soul



3. # Clothes

4. % human and soul

Question Number : 286 Question Id : 59445944115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I IR A 3109 R Tl DI TR B U Il B! YRU HRAT ] |

I THR ST R IRR P ARTHR 797 IRR YR B e g |
9 Wi | hdl UG DI A1 82

Options :

L. * g™

2. % T

3. % dHd

4. ¥ I TG T

Question Number : 287 Question Id : 59445944116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

People who are skilled in ethics, condemn or praise, Lakshmi may come or go. Death may be today or after ages, but a patient man never
deviates from the path of justice.
Where is the Panchami vibhakti used in this verse?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. of justice

2. from the path

3. from the path of justice
4. Lakshmi

Question Number : 287 Question Id : 59445944116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Hifaq & fAgor & fHer o a1 =i, dedt e ar =t S|
g 37T 1 a1 A U, fohg SRfam gow =g & vy § %t faafera =&t gial

39 alie H Ul faufad st wa & 7 22
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. <&

2. 7YY

3. A HTYY

4. qeft

Question Number : 288 Question Id : 59445944117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following uses is correct?

Options :

1. # Dasharath cannot survive without from Ram.
2. # Dasharath cannot survive without to Ram.

3. % Dasharath can survive without on Ram.

4. % Dasharath cannot survive without Rama.

Question Number : 288 Question Id : 59445944117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed 7§ o 91 v va g 82

Options :



1. % I\ Y foA1 geRY Sifdd &l 38 g&d |
2. % A DI foHT1 TIRY Siifad a1 I8 Tehdl |
3. % M & o1 GRRY SHfdd X8 Ihd |

4. ¢ IM & {971 <¥RY Siifad 781 38 I&d |

Question Number : 289 Question Id : 59445944118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The method of converting multiple terms into one term is called?
Options :

1. # Sandhi

2. % Form

3. % Samaas

4, % Suffix

Question Number : 289 Question Id : 59445944118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3% UGl B Th UG H FUMIRA B B Al 1 1 BT o1l 52
Options :

1. % fy

2. % Y

3. ¥ gHH

4, % gy

Question Number : 290 Question Id : 59445944119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why are story, poetry, art, sports, dance, song, drama, music, etc. used in teaching-training method?
Options :

1. % for entertainment



2. # for entertainment and interest
3. % for physical and intellectual development

4. ¥ For physical and intellectual development, increasing interest and entertainment

Question Number : 290 Question Id : 59445944119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRreor ufRreror fafer o wut, wiadn, wan, B9, 9, i, Arew, Tita, snfe &1 wanT forg SR Y fear S g?
Options :

1. % FARSH & forg

2. % FARSH U9 3 §gH & fau

3. % IRING U9 NG fdwra & forg

4. ¢ TRINR® ©d Nfged faer, S ggm Td AR & forg

Question Number : 291 Question Id : 59445944120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Sadaiv’ denotes which one of the following?
Options :

1. ®# Gun Sandhi

2. ¥ Vriddhi Sandhi

3. # Ayaadi Sandhi

4. ® Parroop Sandhi

Question Number : 291 Question Id : 59445944120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hed 379 A o It 1Y g2

Options :

1. % 107 fY

2. ¢ gfg 9y




3. % 3[e Iy
4. % gR=Y Iy

Question Number : 292 Question Id : 59445944121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Samaas Vichchhed of the word ‘Manusmriti’?
Options :

1. % Manu’s memory

2. % Memory for Manu

3. ¥ Memory for two Manus

4. ¥ Memory by Manu

Question Number : 292 Question Id : 59445944121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 39 Wee &1 gAY fawde | g2
Options :

1. ¢ T D1 i

2. % T o ferg wgfa
3. % YA P faeHfa
4. % T D gRIF

Question Number : 293 Question Id : 59445944122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of Bahubriha Samaas?
Options :

1. ¥ Vivekaandh

2. ¥ Sukhdukhe

3. # Jeernvrikksh



4. % ShaakParthiv

Question Number : 293 Question Id : 59445944122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforRad # § &9 91 Sgse THR BT ISER0 /2
Options :

1. ¢ fdaeiy (fade & siem)

2. % UG (Y@ AR W)

3. % Suigef (G 9é)

4. % QrHUIIG

Question Number : 294 Question Id : 59445944123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the Sanskrit word for the word chair?
Options :

1. ¥ Aasandika

2. % Paryank

3. % Kashthpeetham

4. ¥ Utpeethika

Question Number : 294 Question Id : 59445944123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H! TG DI I g FT 62
Options :

1. ¢ 3MrfgepT

2. %

3. % PIgUeH

4. % IAIfSDI




Question Number : 295 Question Id : 59445944124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wisdom increases with knowledge, by which Formula, has the Tritiyaa Vibhakti been done here?
Options :

1. ® Itthambhutalakshane (The words denoting a particular situation has tritiya)

2. ¥ Hetau (The words having meaning of hetu, has Tritiya)

3. # Apvarge Tritiya (The words denoting achieving results has Tritiya)

4. ® Prakrityadibhya Upasankhyanam (The words related to nature etc. has Tritiya)

Question Number : 295 Question Id : 59445944124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faren & gfs st 8, I8l fobd G o g7 et faufed g% 82

Options :

1. % SRiydaer (e Ry R &1 sy = a1a W & el 1 @)
2. ¢ & @q & F A I B R)

3. % 3O T (et Tt T X aTdl Xsg | T giall 8)

4. % YHANC IUIMAHH (WP A 317 T Haferd qrsal & ot giahl ©)

Question Number : 296 Question Id : 59445944125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jealousy is the paripanthini of conscience, what is the meaning of the word paripanthini here?
Options :

1. ¥ Which gives birth to enemies

2. % Which gives birth to kins

3. ¥ Which gives birth to friends

4. % Neutral

Question Number : 296 Question Id : 59445944125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

<of g1 fadep 1 aRufl 3, Tei uRufdHt 2req o1 w31 &2
Options :

1. ¢ T I ITA HRA drell

2. % §Y (UTS) DI ITH HRA aTeh

3. % I &1 IUd HRA Tt

4. % IGNH

Question Number : 297 Question Id : 59445944126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

People avoid to the company of a person who is facing financial crisis; No one talks to him with respect; Such person reached the house of a rich
person on the occasion of a festival is looked upon with disrespect by the rich; In the absence of a dignified garment, such person with shame or
hesitation, escapes from the so called superior people. I believe that poverty is the sixth major felony.

Who is looked upon with disrespect in the house of rich people?

Options :

1. ¥ The poor

2. % It

3. ¥ The Moneylenders
4. % The rich

Question Number : 297 Question Id : 59445944126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3o fau=rdT 3id I8 fdd & WAL I ART §dd §; Pig Hf 31TeR & 1Y 91d el BT §; I & TR W forat ¢t o R ugar U
fad YU S gRT S Bt 2P T AT ST §; UASRES URYM o 3141 & dosT a1 Yo I I U1 afa 9% [ oA ardl @l
U § g9 Headi g | 8 A g i fHedaar ik 3e1 vemas |

¢ afadal & eR R frd 3 & 2P 3 3T ST 82
Options :

1. ¢ e &

2. % 3y




3. % HGOHI &l
4. % IUF Sl Bl

Question Number : 298 Question Id : 59445944127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the translation of the word 'doing'?
Options :

1. ¢ Kurvan

2. ¥ Kreenan

3. # Kiran

4. #® Krindan

Question Number : 298 Question Id : 59445944127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR g T Te& BT IATG T 57
Options :

1. ¢ Paq

2. % I

3. % e

4. % b

Question Number : 299 Question Id : 59445944128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Strikes, promenades, kills, which Dhatu has been used in all these words?
Options :

1. % Hy

2. % Hary

3. # Hree



4. ¥ Hri

Question Number : 299 Question Id : 59445944128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR &l 5, fagR &l 3, YeR ol 8, 37 9a H o 1 o7 TanT g3 82
Options :

1. ¥ g

2. % g

3. % gl

4. V%

Question Number : 300 Question Id : 59445944129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these are helpful in the development of children and method of teaching?
Options :

1. ® imitation and invention

2. % Imitation, Invention and Social Environment

3. # Imitation, Invention, Family, Social Environment and Sports

4. ¥ Imitation, invention, family, social environment, sports, reading and recitation with one's own mind and senses.

Question Number : 300 Question Id : 59445944129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STc] & 9™ 3R Rigor fafd & o1 wgre gid 82

Options :

1. % 3BT 3R IHR

2. % 3H, JATMATHR 3R JHIRTE ATATaRo]

3. % IIHIU, ISHR, TR, FTHISTS FTareRvl 3R Wd

4. ¢ O Al 3R ol & 1y e, MfashR, TiRaTies, I aTdiarul, ¥d, Yo U4 UreH |







